Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
				MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	nt for operation of RO (Rs	required for	Draw of Lots / Bidding		
1	From Indian Coffee House, Eramalloor To Federal Bank, Thuravoor On National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2	Between Edappally (Metro Pillar 389) And Cardinal Higher Secondary School, Thrikkakara	ERNAKULAM	Regular	300	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
3	Between Toshiba Bus Stop and Vallathol Padi (Vallathol Junction Traffic Aid Post)	ERNAKULAM	Regular	340	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
4	From Ernakulam District Co-Operative Bank, Karimugal To Kumarapuram Subramanya Temple On Pallikara - Karimugal Road	ERNAKULAM	Rural	153	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
5	From Mattammel Auditorium, Allapra To Vadayampady Post Office On Perumbavoor - Puthenkurish Road (Outside Municipal Limits)	ERNAKULAM	Rural	180	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
6	From Eastern Factory, Adimali To Valara Water Falls On National Highway 85	IDUKKI	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	From St. Mary's Hospital, Thodupuzha To KSEB Sub Station, Muttom On State Highway 33	IDUKKI	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
8	From KSEB Sub Station, Muttom To FCI Godown, Arakkulam On State Highway	IDUKKI	Regular	140	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
9	From Tribal Extension Office, Kattapana To Puliyanmala Forest Office On State Highway 33	IDUKKI	Regular	160	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
10	On Kannur - Mattannur Road in Valiyannur Village within Kannur Corporation Limits	KANNUR	Regular	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
11	From Kumbala Railway Station to Bandiyod Junction on National Highway 66 Left Hand side	KASARAGOD	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	From Kallumthazam Junction to Mevaram Junction on Kollam Bypass NH 66 towards Trivandrum (Left Hand Side)	KOLLAM	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	From Erumeli to 26th Mile Junction via Kuruvamoozhy on State Highway 44	KOTTAYAM	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
14	From Thrikkalangode village office to GMLP School Karakkunnu On state Highway	MALAPPURAM	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
15	From Malappuram-Kozhikode District border at Eranhimavu to Areecode Bridge on State highway	MALAPPURAM	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
16	From Kulathur Junction to Calicut Airport within Kondotty Municipal Limits	MALAPPURAM	Regular	100	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
17	From Vallikunnu post office junction to Muthiraparambu Masjid in Athanikkal-Olipram Kadavu- Thenhipalam Road	MALAPPURAM	Rural	70	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
18	From Mettupalayam Junction To Chittur Anicode Junction On State Highway 25	PALAKKAD	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for developm ent of	Draw of Lots / Bidding		
19	On National Highway 966 (Within Palakkad Municipality Limits)	PALAKKAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
20	Between Kanjikode Railway Station and Pudussery Village Office (Right Hand Side Towards Kochi From Coimbatore) On National Highway 544	PALAKKAD	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	From Gandhi Square, Mannarkkad To Raja's Memorial English Medium School On Mannarkkad - Anakkatti Road (Within Mannarkkad Municipal Limits)	PALAKKAD	Regular	135	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
22	Between Koppam Juma Masjid And K M K Auditorium, West Kaippuram on Koppam - Valanchery Road	PALAKKAD	Rural	120	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
23	Kumarapuram Junction to Venpalavattom (via KIMS Poonthi Road)	THIRUVANANTHAPURAM	Regular	180	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
24	From Vilappilsala Junction to Uriyacode Junction (Via Mulayara)	THIRUVANANTHAPURAM	Rural	100	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
25	Between Lakshmi Cinemas, Kodungallur And Malapallipuram ESI Dispensary On State Highway 51	THRISSUR	Regular	125	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
26	From Kuttanelloor Mahindra Eram Motors To Thalore Decathlon On National Highway 544 (Left Hand Side)	THRISSUR	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	Between Perinjanam West Post Office And Govt Fisheries Vocational High Secondary School On Azhikode – Chamakkala Road	THRISSUR	Rural	120	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
28	From Alavy Centre Juma Masjid To Agriculture Welfare Society Elinjipra Via Chowka On Potta - Elanjipra Road	THRISSUR	Rural	100	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
29	Kalpetta (Within Municipal Limits & not on National Highway/State Highway)	WAYANAD	Regular	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
30	From Pulppaly Bus Stand to Chettappalam Branch Post Office, Pulpally (not on State Highway/National Highway)	WAYANAD	Rural	70	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
31	From St. Jude Church, Amarakuni, Pulppally to St. Sebastian's Church Valavayal, Moonnanakuzhy via Irulam (not on State Highway/National Highway/Municipality)	WAYANAD	Rural	60	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
32	From Kayamkulam Police Station To Chettikulangara Bhagavathi Temple on State Highway 6	ALAPPUZHA	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
33	From St George Church, Cherthala To Rotary Club Of Cherthala (Within Cherthala Muncipal Limits)	ALAPPUZHA	Regular	100	OPEN CC 1	DC	20	25	500	32	55	Draw of Lots	15	5
34	St. George Roman Catholic Latin Church, Kodamthuruth to A G Church, Pallithodu On State Highway 66	ALAPPUZHA	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
35	From Puthiyakavu Junction, Mavelikkara To Kallumala Karshika Sahakarana Bank on State Highway 10	ALAPPUZHA	Regular	110	OBC PH	DC	30	30	900	32	75	Draw of Lots	15	4
36	From Hotel Saugandhika Residency, Haripad To Marthoma Church, Cheppad On National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	nt for	required for	Draw of Lots / Bidding		
37	From Bank Of Baroda, Haripad to SMM Hospital, Nangiarkulangara on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
38	From Angel King Auditorium, Pathirapally To Kommady Water Tank on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
39	From Kaithavana Junction To Nedumudy Bridge on AC Road (State Highway 11)	ALAPPUZHA	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
40	From Arthunkal 1st Chapel To Andhakaranazhi Light House on State Highway 66	ALAPPUZHA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
41	From Holy Cross Hospital, Cherthala To KVM Hospital on National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
42	From Kalavoor Junction To Pathirapally Juction on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	170	OPEN	сс	35	35	1225	32	12	Bidding	30	5
43	From Kattanam Junction To Charummoodu Junction on State Highway 5	ALAPPUZHA	Regular	150	OPEN	сс	30	30	900	32	12	Bidding	30	5
44	From Ambalapuzha Junction To Lourdes Matha Hospital on State Highway 12	ALAPPUZHA	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
45	From Ayyankoickal Sree Dharma Sastha Temple To Karuvatta Grama Panchayat Office On National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	150	OPEN	сс	35	35	1225	32	12	Bidding	30	5
46	From International Coir Museum To Providence Hospital on National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	170	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
47	From Govt. T.D. Medical College, Alappuzha To Payalkulangara Sree Devi Temple On National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	160	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
48	From NCS Tata Motors Showroom To Electric Vehhicle Charging Station (KSEB) Kanjikuzhy on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	180	OBC	сс	35	35	1225	32	12	Bidding	30	4
49	From Federal Bank, Karuvatta To Wedland Weddings Showroom, Haripad On National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
50	From Ottapunna Junction To Xray Bypass Junction on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
51	From Mar Gregorios College Of Arts And Science To Vandanam Post Office on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
52	From Royal Enfield Showroom (Roverz Motors), Kottukulangara To Kayamkulam Bridge on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	190	OBC	СС	35	35	1225	32	12	Bidding	30	4
53	From SV Yamaha Showroom, Alappuzha To Renault Showroom Alleppey On National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
54	From Punnapra Post Office To Kakkazham Railway Over Bridge on National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
55	From Thanneermukkom Grama Panchayat Office To Govt Sanskrit High School Charamangalam On State Highway 40 From Reliance Mall Alleppey To Carmel College Of Engineering On National Highway 66 (Right Hand	ALAPPUZHA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
56	Side)	ALAPPUZHA	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
57	From Sacred Heart General Hospital To Charamangalam Knanaya Church on National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
58	From Kayamkulam KSRTC To Oachira North Masjid on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	190	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
59	From Kanjikuzhy Service Co-Operative Bank To Kalavoor Junction on National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	180	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
60	From Moham Hospital To Shymas Honda Pattanakkad on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
61	From S.N. College Cherthala To Sub Registrar Office, Mararikulam on National Highway 66 (Right Hand Side)	ALAPPUZHA	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
62	From Kaithavana Junction To Alleppey Boat Jetty (Via Pazhaveed) (Within Alleppey Muncipal Limits)	ALAPPUZHA	Regular	120	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
63	From St. Michael's Kappela, Ponnamveli To EVM Grand Cinemas on National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
64	From Tophaven TVS, Aroor To NSS Sapthathi Smaraka Mandiram on National Highway 66 (Left Hand Side)	ALAPPUZHA	Regular	180	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
65	From Golden Palace Auditorium, Kollakadavu To Reliance Smart, Chengannur on State Highway 10	ALAPPUZHA	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
66	From Viswajyothi Enginnering College, Vazhakulam To Muvattupuzha Post Office Junction On State Highway 8	ERNAKULAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
67	From Kothamangalam Post Office To Kuttamangalam Village Office, Nellimattom On National Highway 85	ERNAKULAM	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
68	From Malayinkeezhu Junction, Kothamangalam To Chelad Bridge (Within Kothamangalam Municipality Limits)	ERNAKULAM	Regular	110	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
69	From Nehru Junction, Muvattupuzha To Puthuppadi Post Office On National Highway 85	ERNAKULAM	Regular	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
70	From Neriamangalam Bridge To Oonukkal Police Station On National Highway 85	ERNAKULAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
71	From Post Office Junction, Muvattupuzha To Arakuzha Post Office On State Highway 41	ERNAKULAM	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
72	From Valakom Panchayath Office To Velloorkkunam Junction, Muvattupuzha On National Highway 85 (Right Hand Side)	ERNAKULAM	Regular	190	OPEN	СС	35	35	1225	32	12	Bidding	30	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
73	From Viswajyothi Engineering College, Vazhakulam To Juma Masjid, Madakathanam On State Highway 8	ERNAKULAM	Regular	170	OPEN	СС	30	30	900	32	12	Bidding	30	5
74	From East Marady Post Office To Meenkunnam Post Office On State Highway 1	ERNAKULAM	Regular	180	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
75	From Muvattupuzha Post Office To KSEB Sub Station, East Marady On State Highway 1	ERNAKULAM	Regular	180	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
76	Between Bolgatty Circle And Mulavukadu Bridge on National Highway 966A	ERNAKULAM	Regular	290	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
77	Between Arakkakadavu Bridge And Alinchuvadu Junction, Palarivattom (Within Corporation Limits)	ERNAKULAM	Regular	310	OPEN CC 1	DC	20	25	500	32	75	Draw of Lots	15	5
78	From Kalamassery Post Office to IAC Round On IAC Road And Kalamassery FACT Road (Within Municipal Limits)	ERNAKULAM	Regular	160	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
79	Between Vallathol Padi (Vallathol Junction Traffic Aid Post) And Irumpanam Junction On Seaport - Airport Road	ERNAKULAM	Regular	380	OPEN CC 2	DC	20	25	500	32	55	Draw of Lots	15	5
80	From Irumpanam Junction To Ambalamugal Cochin Refinery Main Gate (Within Municipal Limits)	ERNAKULAM	Regular	250	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	3
81	Between Edapally Metro Station And Kalamassery Metro Station On National Highway 544	ERNAKULAM	Regular	580	OPEN	сс	35	35	1225	32	12	Bidding	30	5
82	Between SN Junction, Tripunithura And Arakkakadavu Bridge on Eroor Road (Within Municipal Limits)	ERNAKULAM	Regular	320	OPEN	сс	20	25	500	32	12	Bidding	30	5
83	Between Thammanam Pullepady Road And Jawaharlal Nehru International Stadium On Stadium Link Road	ERNAKULAM	Regular	370	OPEN	DC	20	25	500	32	75	Draw of Lots	15	5
84	Between Venduruthy Bridge And Jos Junction on MG Road	ERNAKULAM	Regular	250	OPEN	сс	20	25	500	32	12	Bidding	30	5
85	From Edapally Junction To Thykoodam Bridge On National Highway 66 (Within Corporation Limits)	ERNAKULAM	Regular	410	OPEN	СС	30	30	900	32	12	Bidding	30	5
86	From Kunnumpuram, Amritha Nagar Signal To Cheranalloor Signal Junction On National Highway 66 (Outside Corporation Limits)	ERNAKULAM	Regular	400	OPEN	СС	35	35	1225	32	12	Bidding	30	5
87	From KSEB Ltd Kalamassery Section Office To National University Of Advanced Legal Studies, North Kalamassery (Within Municipal Limits)	ERNAKULAM	Regular	165	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
88	From Puthiyakavu Junction (Puthiyakavu Temple Pond) To SN Junction Poothotta On State Highway 15	ERNAKULAM	Regular	220	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
89	From Thykoodam Bridge To Aroor Bridge On National Highway 66	ERNAKULAM	Regular	380	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
90	From SN Junction, Tripunithura To Puthiyakavu Junction (Puthiyakavu Temple Pond) On State Highway 15	ERNAKULAM	Regular	320	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
91	From Carnival Info Park to Thengod Vayanashala Junction Via Edachira Road and Vayanashala Road (Within Municipal Limits)	ERNAKULAM	Regular	270	OPEN	СС	20	25	500	32	12	Bidding	30	5
92	From Goshree Round (Goshree Junction) To Njarackal Police Station On State Highway 63	ERNAKULAM	Regular	170	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
93	From Vyaparabhavan Kakkanad To St Thomas Church Thengod on State Highway 41	ERNAKULAM	Regular	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
94	Between Pappangamukk Junction And Chellanam Post Office Outside Corporation Limits On State Highway 66	ERNAKULAM	Regular	180	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
95	From Vyttila National Highway Flyover To Manorama Junction On Sahodaran Ayyappan Road	ERNAKULAM	Regular	420	OPEN	сс	20	25	500	32	12	Bidding	30	5
96	Info Park Expressway	ERNAKULAM	Regular	220	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
97	From Palachuvadu Bridge on Edappally Thodu To Seaport Airport Road Through Thuthiyoor Road (Within Municipal Limits)	ERNAKULAM	Regular	180	OBC	DC	20	25	500	32	55	Draw of Lots	15	4
98	Between Mulavukad Bridge And Cheranelloor Signal Junction Along National Highway 966A	ERNAKULAM	Regular	290	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
99	From Edappally thodu bridge To Pipeline Junction,Thrikkakara Along Pipeline Road (Within Thrikkakara Municipal Limits)	ERNAKULAM	Regular	190	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	3
100	Between Manjummal Junction And Cochin University Metro Station On TOG Road	ERNAKULAM	Regular	200	OPEN CC 2	DC	20	25	500	32	55	Draw of Lots	15	5
101	From Kadavanthra Junction To Thaikkudam Overbridge Along KP Vallon Road, Amalabhavan Road And Tank Bund Road	ERNAKULAM	Regular	200	OBC CC 1	DC	20	25	500	32	75	Draw of Lots	15	4
102	From Taluk Head Quarters Hospital, Perumbavoor To State Bank Of India, Odakkali On State Highway 16 (AM Road)	ERNAKULAM	Regular	141	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
103	From Karavattu Mullakkal Temple, Perumbavoor To St. Thomas Syro Malabar Catholic Church, Pulluvazhy On State Highway 1 (MC Road)	ERNAKULAM	Regular	138	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
104	From Thaikkarachira Temple, Rayamangalam To Pallichirangara Juma Masjid, Thrikkalathoor On State Highway 1 (MC Road)	ERNAKULAM	Regular	159	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
105	From Primary Health Center, Edavanakad To Govt LP School Pallippuram On State Highway 63	ERNAKULAM	Regular	111	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
106	Between Vallathol Padi (Vallathol Junction Traffic Aid Post) and Thevakkal Junction (Within Municipal Limits)	ERNAKULAM	Regular	250	OPEN CC 1	DC	20	25	500	32	55	Draw of Lots	15	5
107	From Cochin Corporation Zonal Office, Fort Kochi To St. Louis Church Mundamveli On KJ Hershal Road And KB Jacob Road (Within Corporation Limits)	ERNAKULAM	Regular	200	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
108	From Thengod Post Office To St. Mary's Jacobite Syrian Orthodox Chapel, Thattammugal On State Highway 41	ERNAKULAM	Regular	171	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
109	Limits)	ERNAKULAM	Regular	290	ST PH	CFS	20	25	500	0	0	Draw of Lots	0	3
110	Road And Palarivattom Road	ERNAKULAM	Regular	300	OBC PH	DC	20	25	500	32	75	Draw of Lots	15	4
111	From Municipal Town Hall, North Paravoor To Vedimara Junction, North Paravur (Within Municipal Limits)	ERNAKULAM	Regular	165	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
112	From Rural Self Employment Training Institute, Nellad To Mudavoor Community Hall, Velloorkunnam On State Highway 41	ERNAKULAM	Regular	164	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
113	From Irumpanam Junction to Petta Junction Bus Stop, Tripunithura on National Highway 85	ERNAKULAM	Regular	360	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
114	From St. Mary's Jacobite Syrian Orthodox Chapel, Thattammugal To Nellad Junction On State Highway 41	ERNAKULAM	Regular	164	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
115	From Kunnumpuram Junction To Manjummel Subramaniya Swamy Temple On Manjummel Road (Within Municipal Limits)	ERNAKULAM	Regular	165	OPEN	СС	20	25	500	32	12	Bidding	30	5
116	From Kerala Electrical & Allied Engg. Co, Mamala To Federal Bank, Puthencruz On National Highway 85	ERNAKULAM	Regular	229	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
117	From Angamaly Junction To Perumbavoor Junction On State Highway 1 (MC Road)	ERNAKULAM	Regular	286	OPEN	СС	30	30	900	32	12	Bidding	30	5
118	From Najath Hospital, Aluva To Gandhi Circle, Perumbavoor On State Highway 16 (AM Road)	ERNAKULAM	Regular	271	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
119	From Vytilla Flyover To Mathoor Flyover On Vytilla - Mathoor Road (Within Tripunithura Municipal Limits)	ERNAKULAM	Regular	280	OBC	DC	20	25	500	32	55	Draw of Lots	15	4
120	From Puthencruz Post Office To Eden Convention Centre, Kolenchery On National Highway 85	ERNAKULAM	Regular	258	OPEN	СС	35	35	1225	32	12	Bidding	30	5
121	From Moothakunnam Bridge to Perumpadanna LP School On New National Highway 66 (Left Hand Side)	ERNAKULAM	Regular	275	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
122	From St. Joseph School, Angamaly To Mar Athanasius Higher Secondary School, Athani On National Highway 544 (Left Hand Side)	ERNAKULAM	Regular	295	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
123	From Mar Gregorios Orthodox Church, Angamaly to Government LP School, Thuruthussery On National Highway 544 (Right Hand Side)	ERNAKULAM	Regular	340	OPEN	СС	35	35	1225	32	12	Bidding	30	5
124		ERNAKULAM	Regular	280	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	3
125	From Athani Airport Junction To Aluva Metro Station On National Highway 544 (Left Hand Side)	ERNAKULAM	Regular	337	OPEN	СС	35	35	1225	32	12	Bidding	30	5
126	From Aluva Metro Station To Kalamassery Metro Station On National Highway 544 (Left Hand Side)	ERNAKULAM	Regular	340	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7	1	8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
127	Between Pachalam Junction And High Court Poothulil Junction On Mathai Manjooran Road	ERNAKULAM	Regular	320	ОВС	DC	20	25	500	32	75	Draw of Lots	15	4
128	From Vyaparabhavan Junction, Kakkanad To Kadambrayar Bridge	ERNAKULAM	Regular	270	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
129	From Apollo Adlux International Hospital To Angamaly Police Station On National Highway 544 (Left Hand Side)	ERNAKULAM	Regular	352	OPEN	СС	35	35	1225	32	12	Bidding	30	5
130	From Apollo Adlux International Hospital To Angamaly Police Station On National Highway 544 (Right Hand Side)	ERNAKULAM	Regular	466	OPEN	СС	35	35	1225	32	12	Bidding	30	5
131	From Moothakunnam Bridge To Vazhikulagara Junction On New National Highway 66 (Right Hand Side)	ERNAKULAM	Regular	385	OPEN	сс	35	35	1225	32	12	Bidding	30	5
132	From District Ayurveda Hospital, Ernakulam to Valanjambalam Temple Along Chittoor Road	ERNAKULAM	Regular	270	OBC	сс	20	25	500	32	12	Bidding	30	4
133	From Alinchuvadu Junction To Civil Station Junction, Kakkanad On State Highway 41	ERNAKULAM	Regular	310	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
134	From Perumpadanna New Highway Junction to Vazhikulagara Junction On New National Highway 66 (Left Hand Side)	ERNAKULAM	Regular	385	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
135	From Pachalam Junction To High Court Signal Junction Via Goshree Chatiyath Road And Abraham Madamakkal Road	ERNAKULAM	Regular	220	OPEN CC 1	DC	20	25	500	32	75	Draw of Lots	15	5
136	From Pachalam Junction To Madhava Pharmacy Junction Via Chittoor Road And Banerjee Road	ERNAKULAM	Regular	310	OBC	DC	20	25	500	32	75	Draw of Lots	15	4
137	From Valanjambalam Devi Temple Junction To Ravipuram Junction (St Pauls Lutheran Church) Through Ravipuram Road	ERNAKULAM	Regular	260	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
138	Kaloor - Kadavanthara Road	ERNAKULAM	Regular	450	OPEN	СС	20	25	500	32	12	Bidding	30	5
139	From District Educational Office, Kattapana To Kanchiyar KSEB Section Office On State Highway	IDUKKI	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
140	From Vengaloor Junction To Kumaramangalam Village Office On State Highway	IDUKKI	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
141	From St Mary's Higher Secondary School, Murikkassery To Govt. Higher Secondary School, Thopramkudy On State Highway 40	IDUKKI	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
142	Within 6 Km From Vandiperiyar Police Station (On National Highway 183)	IDUKKI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
143	From Kanjikuzhy Panchayath Office To Chelachuvadu CSI Hospital On State Highway 40	IDUKKI	Regular	100	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
144	From Anachal Post Office To Iruttukanam BSNL Office on Munnar Bypass Road (Via Thokupara)	IDUKKI	Regular	170	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4 Regular / Rural	5 MS+HSD in KLs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2	7 CC / DC / CFS	Frontage	8 Depth	Area	Estimated working capital requirement for operation of RO (Rs In Lakhs)	required for	Draw of Lots /	11	12
145	From Cheruthoni Bridge To Kattapana KSRTC Depot On National Highway 185	IDUKKI	Regular	150	OPEN PH OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
146	From Adimali Taluk Hospital To Kallarkutty Dam On National Highway 185	IDUKKI	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
147	From Government Technical High School, Adimali To Office of Assistant Engineer, Pallivasal Roads Section On National Highway 85	IDUKKI	Regular	210	OPEN	СС	35	35	1225	32	12	Bidding	30	5
148	From Nedumkandam Gram Panchayath Office To Udumbanchola Gram Panchaath Office On State Highway 19	IDUKKI	Regular	160	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
149	From Peruvanthanam To Kuttikanam Junction On National Highway 183	IDUKKI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
150	From The Devikulam Taluk Co-Operative Agricultural & Rural Development Bank, Anachal To Pallivasal On State Highway	IDUKKI	Regular	160	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
151	From Vengaloor Junction To Karimkunnam On State Highway 8	IDUKKI	Regular	120	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
152	Within 3 Km From Pampadumpara Village Office On State Highway	IDUKKI	Regular	100	OPEN PH	DC	30	30	900	32	75	Draw of Lots	15	5
153	From Vandanmedu (Lord Ganesh Statue) To Anakkara (KSEB Office) On State Highway 19	IDUKKI	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
154	Within 3 Km From Thankamani Village Office On State Highway	IDUKKI	Regular	110	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
155	Between Kadirur and Koothuparamba (On State Highway)	KANNUR	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
156	Between Payyavoor and Kakkathode Church on State Highway 59	KANNUR	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
157	Between Karikkottakary and Edoor Veterinary Hospital (On State Highway)	KANNUR	Regular	120	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
158	Between Taliparamba and Kurumathur on State Highway 36	KANNUR	Regular	120	OPEN CC 1	СС	30	30	900	32	12	Bidding	30	5
159	On Pamban Madhavan Road within Kannur Corporation Limits	KANNUR	Regular	140	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
160	Within Sreekandapuram Municipal Limits on Sreekandapuram - Payyavoor Road	KANNUR	Regular	120	OBC PH	DC	20	25	500	32	55	Draw of Lots	15	4
161	On Thazhechova - Mattannur Road in Chelora Revenue Village within Kannur Corporation Limits	KANNUR	Regular	140	OPEN	СС	20	25	500	32	12	Bidding	30	5
162	From Thazhechovva Railway Gate to Thottada Bus stop on Kannur - Thalassery Road	KANNUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6 SC	7		8	<u> </u>	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	nt for	required for	Draw of Lots / Bidding		
163	Kottiyoor Revenue Village limits on State Highway 59	KANNUR	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
164	Between Pazhassi Village Office and Neerveli Juma Masjid on State Highway	KANNUR	Regular	120	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
165	Mattannur Municipal limits (on Mattannur - Maruthayi - Irikkur Road)	KANNUR	Regular	120	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
166	Between AKG Smaraka Hospital, Peralassery and Mambaram English Medium Senior Secondary School, Mambaram on Kannur - Koothuparamba Road (State Highway 38)	KANNUR	Regular	120	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
167	Pazhassi Revenue Village within Mattannur Municipal Limits on Chovva - Anjarakkandy - Keezhallur - Mattannur Road	KANNUR	Regular	120	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
168	From Perumba bridge Payyanur to Pilathara KSTP Road intersection on National Highway 66 Left Hand side	KANNUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
169	Between Chala Junction and Moonuperiya Bus Stop on Kannur - Koothuparamba Road (State Highway 38)	KANNUR	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
170	From Perumba bridge Payyanur to Pilathara KSTP Road intersection on National Highway 66 Right Hand side	KANNUR	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
171	Between Ulikkal Junction and Government High School, Perinkari (on State Highway)	KANNUR	Regular	120	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
172	On Payyanur-Thrikaripur Road(via Thalichalam) within Payyanur Municipality limits	KANNUR	Regular	130	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
173	From Perumba new bridge (on Payyanur NH bypass) to Onakunnu junction on National Highway 66	KANNUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
174	Between Iritty Bridge and 29th Mile Bus stop on State Highway 30	KANNUR	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
175	Between Nuchiyad and Ullikkal Agriculture Development Bank on State Highway 59	KANNUR	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
176	Between Milma Malayora Dairy and Kaniyarvayal in Sreekandapuram Revenue village limits on State Highway 36	KANNUR	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
177	From Kalliasery to Taliparamba on National Highway 66 (Left Hand Side)	KANNUR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
178	From Cherkala Roundabout to Sree Puri Auditorium, Bovikkanam on State Highway 55	KASARAGOD	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
179	From Nileshwar Railway Over Bridge to EMS Stadium Nileshwar via Nileshwar Thaluk Hospital (within Municipal Limits)	KASARAGOD	Regular	110	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
180	From KVR Tata Motors, Vidya Nagar to Chengala Panchayat Office, Cherkala on National Highway 66 Right Hand side	KASARAGOD	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
181	From Mavungal Junction to Sadhguru Public School Peroor on State Highway (not on National Highway)	KASARAGOD	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
182	From Pallikara River bridge, Bekal to Kalnad Railway Over bridge, Kalnad on State Highway 57	KASARAGOD	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
183	From Ambalathara Police Station to Kodom Belur Panchayath Office on State Highway 56	KASARAGOD	Regular	110	OPEN	CC	30	30	900	32	12	Bidding	30	5
184	From KVR Tata Motors, Vidya Nagar to Chengala Panchayat Office, Cherkala on National Highway 66 Left Hand side	KASARAGOD	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
185	From Bekal-Periyathadukkam NH road intersection, Periyathadukkam to KSEB substation Mylatty on National Highway 66 Left Hand side	KASARAGOD	Regular	150	OPEN	сс	35	35	1225	32	12	Bidding	30	5
186	From Odayanchal Junction to Panathady Service Co-Operative Bank, Chullikara on State Highway 56	KASARAGOD	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
187	From City Gold Fashion jewellery to Thalangara Sub Post office via M.G.Road-Traffic Junction- Railway station road Kasaragod within Kasaragod Municipality limits	KASARAGOD	Regular	130	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
188	From Chittarikkal Village Office, Chittarikkal to Eetithattu Junction on Chittarikkal-Malakkal Road on State Highway	KASARAGOD	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
189	From Gokulam Nalanda Resorts, Nileshwar to KTDC Kanhangad, Aingoth on National Highway 66 Left Hand side	KASARAGOD	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
190	From Nethaji circle new bus stand, Kasaragod to CPCRI on National Highway 66 Left Hand side	KASARAGOD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
191	From Government Polytechnic college Kasaragod, Periya to Rifahiyya Juma masjid cherumba , Panayal on National Highway 66 Left Hand side	KASARAGOD	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
192	From Chowki Juma masjid,Chowki to Mogral river bridge on National Highway 66 Left Hand side	KASARAGOD	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
193	From KHM Hospital, Madiyan,Kanhangad to TB Road Junction, Kanhangad on State Highway	KASARAGOD	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
194	From CKNS Govt Higher Secondary School Pilicode to Thejaswini River bridge on National Highway 66 Left Hand side	KASARAGOD	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
195	Between Ezhukone Junction and Kottarakkara Pulamon Junction on NH 744	KOLLAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
196	Between Edamon Junction and Thenmala Junction on NH 744	KOLLAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
197	Between Chavara Titanium Junction and Chenamkara Junction on NH 183 A	KOLLAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
198	From Ayathil Junction to Decent Mukku Junction on Kollam Ayoor Road(With in Corporation Limit)	KOLLAM	Regular	170	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	1	num Dimen of the site (i	•	arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6 SC	7		8	1	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	Estimated fund required for developm ent of infrastruct ure at RO (Rs In Lakhs)	Draw of Lots / Bidding		
199	Between Chathanoor Junction and Kalluvathukkal Junction on NH 66	KOLLAM	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
200	Kavanad (Marine) (Within Corporation Limit)	KOLLAM	Regular	100	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
201	Between Kulathupuzha Junction and Thenmala Junction on State Highway 2	KOLLAM	Regular	135	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
202	Kureepuzha (Marine)	KOLLAM	Regular	110	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
203	Between Chandanathope Junction and Kundara Elampaloor Junction on NH 744	KOLLAM	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
204	Between Bharanikkavu Junction and Sasthamkotta Junction on NH 183A	KOLLAM	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
205	From Kallumthazam Junction to Mevaram Junction on Kollam Bypass NH 66 towards Trivandrum (Right Hand Side)	KOLLAM	Regular	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
206	Between Kanneti Bridge and Titanium Junction on NH 66	KOLLAM	Regular	200	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
207	Between Kavanad bypass Junction and Kadavoor Junction on Kollam Bypass NH 66	KOLLAM	Regular	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
208	Between Anchal Junction and Punalur on State Highway 48	KOLLAM	Regular	170	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
209	Between Anchalumood Junction and Kundara Elampallor Junction on NH 183	KOLLAM	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
210	Between Chittumala Junction and Kadapuzha bridge on NH 183	KOLLAM	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
211	Between Bharanikkavu Junction and Chakkuvalli Junction on NH 183	KOLLAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
212	Between Kalayapuram Junction and Enathu bridge on State Highway 1 (Left Hand Side)	KOLLAM	Regular	165	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
213	From Ramankulangara Junction to Maruthadi (on Maruthadi Ramankulangara Road)	KOLLAM	Regular	110	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
214	From Neendakkara Bridge to Kavanad Bypass Junction on NH 66 Towards Trivandrum (Right Hand Side)	KOLLAM	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
215	Between Punalur T.B. Junction and Edamon Junction on NH 744	KOLLAM	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
216	From Kottiyam Junction to Chathanoor Junction on NH 66 Towards Trivandrum (Left Hand Side)	KOLLAM	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
217	From Kottiyam Junction to Chathanoor Junction on NH 66 Towards Trivandrum (Right Hand Side)	KOLLAM	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
218	Sakhtikulangara (Marine)(With in Corporation Limit)	KOLLAM	Regular	120	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
219	Between Chithara Junction and Madathara Junction on State Highway 64	KOLLAM	Regular	105	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
220	Within Kottarakkara Municipal Limits (on Govindamangalam Road)	KOLLAM	Regular	105	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
221	Between Kottarakkara Pulamon Junction and Enathu Bridge on State Highway 1 (Right Hand Side)	KOLLAM	Regular	165	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
222	Between Madathara Junction and Kulathupuzha Junction on State Highway 2	KOLLAM	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
223	Between Chenamkara Junction and Karali Junction on NH 183 A	KOLLAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
224	Between Valakom Junction and Ayoor Junction on State Highway 1	KOLLAM	Regular	175	ОВС	сс	30	30	900	32	12	Bidding	30	4
225	Between Ezhammile (7th Mile) and Bharanikkavu on NH 183A	KOLLAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
226	Between Nilamel Junction and Chadayamangalam Junction on State Highway 1	KOLLAM	Regular	135	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
227	Between Kollam High School Junction and Anchalumoodu Junction on NH 183	KOLLAM	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
228	Between Vettithitta Junction and Pathanapuram Junction on State Highway 8	KOLLAM	Regular	135	ОВС	СС	30	30	900	32	12	Bidding	30	4
229	Between Kottarakkara Pulamon Junction and Valakom Junction on State Highway 1	KOLLAM	Regular	175	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
230	Between Titanium Junction and Chavara bridge on NH 66	KOLLAM	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
231	From Neendakkara Bridge to Kavanad Bypass Junction on NH 66 Towards Trivandrum (Left Hand Side)	KOLLAM	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
232	Between Kallumkadavu Junction and Kalanjoor Junction on State Highway 8	KOLLAM	Regular	150	OPEN	сс	30	30	900	32	12	Bidding	30	5
233	From Paripally Junction to Kulamada Junction on State Highway 64 (With in Kollam District)	KOLLAM	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
234	Between Kadavoor Junction and Kallumthazham Junction on Kollam Bypass NH 66	KOLLAM	Regular	210	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/ CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	Estimated fund required for developm ent of infrastruct ure at RO (Rs In Lakhs)	Draw of Lots / Bidding		
235	Between Chavara bridge and Neendakkara Bridge on NH 66	KOLLAM	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
236	Between Kundara Elampallor Junction and Ezhukone Junction on NH 744	KOLLAM	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
237	From Poovathamoodu Bridge to Pattithanam Junction on Ettumanoor-Manarkadu Bypass road(Within Municipal Limit)	коттауам	Regular	120	OPEN	СС	20	25	500	32	12	Bidding	30	5
238	From Nagampadom to Collctorate Junction (via Railway Station Road)	КОТТАУАМ	Regular	140	OPEN	CC	20	25	500	32	12	Bidding	30	5
239	Between Thiruvathukkal Kavala and Kurisupally Junction on Thiruvathukkal Road (Within Municipal Limit)	КОТТАУАМ	Regular	110	OPEN	СС	20	25	500	32	12	Bidding	30	5
240	From Chalukunnu Junction to Illickal Bridge (Within Municipal Limit)	КОТТАУАМ	Regular	100	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
241	From Varissery Junction to Chalukunnu Junction(Within Municipal Limit)	КОТТАУАМ	Regular	100	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
242	From Kallara Junction to Kuruppumthara Junction on State Highway 40	KOTTAYAM	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
243	From Kadayanickadu Junction to Manimala Junction on Karukachal-Manimala Road	KOTTAYAM	Regular	110	OBC	DC	20	25	500	32	55	Draw of Lots	15	4
244	From Illickal Bridge Junction to Thiruvathukkal Kavala on Thiruvarp Road(With in Municipal Limit)	KOTTAYAM	Regular	110	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
245	From Thuruty Junction to Vadakkekkara Junction on NH 183	KOTTAYAM	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
246	From Changanacherry Bypass Junction on Vazhoor Road to Laikadu Junction on Bypass on NH 183	КОТТАУАМ	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
247	From Manipuzha Junction to Nattakom Polytechnic Junction on NH 183	KOTTAYAM	Regular	180	OPEN	сс	35	35	1225	32	12	Bidding	30	5
248	From Ettumanoor Junction to Carithas Hospital Junction on State Highway 1	КОТТАУАМ	Regular	180	OBC	СС	30	30	900	32	12	Bidding	30	4
249	From Carithas Hospital Junction - Nagampadam Bridge on State Highway 1	КОТТАУАМ	Regular	180	OPEN	СС	30	30	900	32	12	Bidding	30	5
250	From MES College Junction to Mukkoottuthara Junction on Pambavalley Road on State Highway 44	КОТТАУАМ	Regular	130	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
251	From Chingavanam Junction to Kurichy Outpost Junction on NH 183	КОТТАУАМ	Regular	170	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
252	Pattithanam Junction to Vempally Junction on State Highway 1	КОТТАУАМ	Regular	150	OPEN	сс	30	30	900	32	12	Bidding	30	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
253	From Vanchimala Junction to Manjakuzhi Junction on Pala-Ponkunnam State Highway 8	КОТТАУАМ	Regular	150	OPEN	СС	30	30	900	32	12	Bidding	30	5
254	From Vaikom Valiyakavala Junction to Ithippuzha Bridge on State Highway 15 RHS towards Ithippuzha Bridge	KOTTAYAM	Regular	130	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
255	From Thottakkad Junction to Nethalloor Junction on State Highway 9	KOTTAYAM	Regular	120	OPEN	СС	30	30	900	32	12	Bidding	30	5
256	Between Lalam Bridge Junction and Bharananganam Junction on Pala-Erattupetta Road State Highway 32	КОТТАУАМ	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
257	From Manarcad Junction to Priyadarshini Junction on NH 183	КОТТАУАМ	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
258	From Kottaramattom Bus stand Junction to Cherpunkal Junction on Pala Main Road on State Highway 32	КОТТАУАМ	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
259	From Vempally Junction to Central Junction, Kuravilangad on State Highway 1	КОТТАУАМ	Regular	150	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
260	Pampady Alampally Junction to Pulikkalkavala Junction on NH 183	KOTTAYAM	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
261	From Thekkekkara Junction to Thidanadu Junction on Erattupetta Kanjirapally Road on State Highway 44	KOTTAYAM	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
262	From Koduvally to Omassery on State Highway 68	KOZHIKODE	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
263	From Mankave Traffic Junction to Arayidathupalam Fly over Junction via Lulu Mall Building Kozhikode & MIMS Hospital Kozhikode (within Corporation Limits)	KOZHIKODE	Regular	250	OPEN	СС	20	25	500	32	12	Bidding	30	5
264	From Ulliyeri Junction to Velliyoor AUP School, Nochad on State highway 38	KOZHIKODE	Regular	140	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
265	From Parco Hospital Vadakara to Kainatty Masjid Junction on National Highway 66 (Left Hand Side)	KOZHIKODE	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
266	From Mananchira LIC Junction to West Hill Chungam Junction via Kannur Road	KOZHIKODE	Regular	220	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
267	Between Nochad Primary Health Centre and Perambra busstand on State Highway 38	KOZHIKODE	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
268	From Kalluthankadavu Junction to Chalappuram Post Office (via PB Menon Road and Puthiyapalam Junction within Corporation Limits)	KOZHIKODE	Regular	150	OPEN	DC	20	25	500	32	75	Draw of Lots	15	5
269	From Engapuzha Bridge to Chippilithode Juma Masjid on National Highway 766	KOZHIKODE	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
270	Puthoorvattom Salafi Masjid to Karumala Mahadeva devi Temple Sivapuram, Balussery on State Highway 34	KOZHIKODE	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
271	From Thalapperumanna Bridge To Manipuram AUP School via Manipuram Road within Koduvally Municipality Limits	KOZHIKODE	Regular	120	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
272	From Sacred Heart Church Mukkam to Kodiyathur Service Co Op Bank main branch at Eranhimavu on State Highway 34	KOZHIKODE	Regular	140	OBC	СС	30	30	900	32	12	Bidding	30	4
273	From Karaparamba Junction to Malikadave Junction via Meitra Hospital (within Kozhikode Corporation Limits)	KOZHIKODE	Regular	175	OPEN	СС	20	25	500	32	12	Bidding	30	5
274	From Eranhipalam traffic Signal Junction to NGO Quarters main gate via Civil Station (within Corporation Limits)	KOZHIKODE	Regular	250	OPEN	сс	30	30	900	32	12	Bidding	30	5
275	From GVHSS Korangad Thamarassery main gate to Estate Mukku Bus stop Junction on State Highway 34	KOZHIKODE	Regular	120	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
276	From Feroke Police Station to Feroke Bus Stand (within municipal limits and not on State Highway)	KOZHIKODE	Regular	150	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	3
277	From Thamarassery Chungam to Sacred Heart Church Mukkam on State Highway 34	KOZHIKODE	Regular	120	OPEN	СС	30	30	900	32	12	Bidding	30	5
278	Eranhikkal Junction to Pookkad Junction on National Highway 66 outside Corporation Limits (Left Hand Side)	KOZHIKODE	Regular	180	OPEN PH	СС	35	35	1225	32	12	Bidding	30	5
279	From Kainatty Masjid to Chombal Kunhipally Juma Masjid on National Highway 66 (Left Hand Side)	KOZHIKODE	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
280	Vadakara - Villiapilly road within vadakara Municipality (not on National Highway/ State Highway)	KOZHIKODE	Regular	120	OBC	DC	20	25	500	32	55	Draw of Lots	15	4
281	From Koduvally Bus Stand to Thamarassery Mary Matha Cathedral Syro Malabar church on National Highway 766	KOZHIKODE	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
282	From Thondayad Flyover Junction to Kozhikode Government Medical College Main gate Junction (via Presentation School)	KOZHIKODE	Regular	250	OPEN	СС	20	25	500	32	12	Bidding	30	5
283	From Thamarassery Chungam Junction to Malapuram Perumpally post office on National Highway 766	KOZHIKODE	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
284	From Purakkatteri new by pass bridge to Vengalam on National Highway 66 (Right Hand Side)	KOZHIKODE	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
285	From Mankavu Junction to Kunnathpalam Bridge via Mankavu-Pantheerankave Road (Within Corporation Limits)	KOZHIKODE	Regular	200	OPEN	DC	20	25	500	32	75	Draw of Lots	15	5
286	From Govt.VHSS Meenchanda to Beypore Bus stand on Beypore Road within Kozhikode Corporation Limits	KOZHIKODE	Regular	160	OPEN	DC	20	25	500	32	75	Draw of Lots	15	5
287	From Kozhikode Corporation office to Vellayil Police Station on Kozhikode Beach Road within Corporation limits	KOZHIKODE	Regular	175	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
288	Chengottukavu to new Nandi Railway Flyover on New National Highway Bypass (Right Hand Side)	KOZHIKODE	Regular	160	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6 SC SC CC-1 SC PH ST	7		8		9a Estimated		10	11	12
				MS+HSD in KLs	ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	working capital requirement for operation of RO (Rs In Lakhs)	required for developm ent of infrastruct ure at RO (Rs In Lakhs)	Draw of Lots / Bidding		
289	Purakkatteri bridge to Vengalam Junction on National Highway 66 (Left Hand Side)	KOZHIKODE	Regular	170	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
290	Malaparamba Junction to Eranhikkal Junction on National Highway 66 (Left Hand Side)	KOZHIKODE	Regular	180	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
291	Between Koothali AUP School and Kuttiyadi Bridge on State Highway 38	KOZHIKODE	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
292	From Mankavu Bridge to Meenchanda Junction on Kozhikode mini bypass road within Kozhikode Corporation Limits	KOZHIKODE	Regular	220	OPEN	DC	20	25	500	32	75	Draw of Lots	15	5
293	Malaparamba Junction to Eranhikkal Junction on National Highway 66 (Right Hand Side)	KOZHIKODE	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
294	Within 1 KM of Vengeri Junction on Kakkodi-Balussery Road within Corporation Limits	KOZHIKODE	Regular	180	OPEN	DC	20	25	500	32	75	Draw of Lots	15	5
295	From Kainatty Masjid to Chombal Kunhipally Juma Masjid on National Highway 66 (Right Hand Side)	KOZHIKODE	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
296	From Pavangad Junction to Vengalam Railway overbridge via Kannur Road (within Corporation limits)	KOZHIKODE	Regular	175	OBC	СС	30	30	900	32	12	Bidding	30	4
297	From Atholi to Nanminda via Cheekilode on State Highway 68	KOZHIKODE	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
298	Eranhikkal Junction to Pookkad Junction on National Highway 66 (Right Hand Side)	KOZHIKODE	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
299	From Madavoor to Nanminda Co Op Bank Junction on State Highway 68	KOZHIKODE	Regular	120	OPEN PH	DC	30	30	900	32	75	Draw of Lots	15	5
300	On Payyoli-Perambra Road (within Payyoli municipality limits)	KOZHIKODE	Regular	120	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
301	From Koyilandy Railway over bridge to Ulliyeri on State Highway 34	KOZHIKODE	Regular	140	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
302	From Akshaya Centre Othukungal to GAIL office main gate, Kodur on state highway	MALAPPURAM	Regular	150	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
303	From Kooriyad Junction to Vengara Bus Stand on State Highway 72	MALAPPURAM	Regular	140	OPEN	СС	30	30	900	32	12	Bidding	30	5
304	Munduparamba- Kavungal Bypass within Municipal limits	MALAPPURAM	Regular	150	OPEN	СС	20	25	500	32	12	Bidding	30	5
305	Within 6 KMs from Parappanangadi Railway Overbridge towards Tirurangadi on State Highway 65	MALAPPURAM	Regular	160	OPEN	СС	30	30	900	32	12	Bidding	30	5
306	From Kooriyad Post Office, Kooriyad to Kolappuram Junction on National Highway 66 (Right Hand Side)	MALAPPURAM	Regular	170	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
307	From Panampuzha Bridge to KSEB Electrical Section, Venniyour on National Highway 66(Left Hand Side)	MALAPPURAM	Regular	180	ОВС	СС	35	35	1225	32	12	Bidding	30	4
308	From Seethihaji stadium Edavanna to GMLP School Mampad North on state highway	MALAPPURAM	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
309	From Melattoor Police station to Edapatta Grama Panchayath Office on state highway	MALAPPURAM	Regular	120	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
310	From Ramapuram Service Cooperative Bank Head Office, Ramapuram to Village office Valamboor on National Highway 966 (Left Hand side)	MALAPPURAM	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
311	From Velimukku Post Office to IOCL LPG Bottling Plant, Chelari On National Highway 66 (Right Hand Side)	MALAPPURAM	Regular	200	OPEN CC 1	сс	35	35	1225	32	12	Bidding	30	5
312	From Cherukavu Village Office, cherukavu to Kondotty Bus stand, Kondotty On National Highway 966 (Left Hand Side)	MALAPPURAM	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
313	Within 6 KM from Chamravattom Junction towards Kuttippuram On National Highway 66 (Left Hand Side)	MALAPPURAM	Regular	180	OPEN	сс	35	35	1225	32	12	Bidding	30	5
314	Within Tirur Municipality Limits on Tirur-Kundanath kadavu - Tanalur Road	MALAPPURAM	Regular	140	ОВС	DC	20	25	500	32	55	Draw of Lots	15	4
315	From GHSS Pattikkad to MEA Engineering College, Nellikunnu-Vengoor main gate on state highway	MALAPPURAM	Regular	120	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
316	From Alamcode Post office to Alamcode Village Office, Changaramkulam on State Highway 69	MALAPPURAM	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
317	From State Bank of India, Changramkulam to Kolikkara Masjid, Kolikkara on State Highway 69	MALAPPURAM	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
318	From Panampuzha Bridge to KSEB Electrical Section, Venniyour on National Highway 66 (Right Hand Side)	MALAPPURAM	Regular	170	OBC	СС	35	35	1225	32	12	Bidding	30	4
319	From Chungathara Grama Pamachayath office to Edakkara Bridge on state highway	MALAPPURAM	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
320	Within Ponnani Municipality Limits on Ponnani-Biyyam-Palakkad Road	MALAPPURAM	Regular	120	OPEN	СС	20	25	500	32	12	Bidding	30	5
321	From Vadapuram Bridge to Nilambur Police station on state highway	MALAPPURAM	Regular	140	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
322	Within 4 km from Govt. HSS Pullangode towards Chokkad on state highway	MALAPPURAM	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
323	From Apollo Oasis flat Manjeri to A M U P School Valluvambram main gate On State highway	MALAPPURAM	Regular	130	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
324	From Mallur Shiva Parvathi Temple, Minipampa to KSRTC Regional Workshop & SM Office, Edappal on State Highway 69	MALAPPURAM	Regular	120	OBC	СС	30	30	900	32	12	Bidding	30	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
325	Within Tirur Municipality Limits on Tirur-Tanur Road	MALAPPURAM	Regular	140	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
326	From Government Higher Secondary School Pookkottur to Alathurpadi Dars & Juma masjid on National Highway-966 (Right Hand Side)	MALAPPURAM	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
327	From Edappal Flyover to Kaladithara Sree Vadakke Manaliyarkkav Temple, Edappal on State Highway 69	MALAPPURAM	Regular	130	ОВС	сс	30	30	900	32	12	Bidding	30	4
328	Within 6km from chamravattom Junction towards Kuttippuram On National Highway 66 (Right Hand Side)	MALAPPURAM	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
329	Within Kottakkal Municipality Limits on Kottakkal-Indianoor Road	MALAPPURAM	Regular	120	ОВС	DC	20	25	500	32	55	Draw of Lots	15	4
330	From Taluk Supply Office, Kottukara, Kondotty to VHM HSS School Morayur on National Highway 966(Right Hand Side)	MALAPPURAM	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
331	From Taluk Supply Office, Kottukara, Kondotty to VHM HSS School Morayur on National Highway 966(Left Hand Side)	MALAPPURAM	Regular	170	ОВС	сс	35	35	1225	32	12	Bidding	30	4
332	From Kootilangadi bridge to Govt. Vocational Higher Secondary School Makkaraparamba on National Highway 966 (Left Hand side)	MALAPPURAM	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
333	From Kooriyad Post Office, Kooriyad to Kolappuram Junction on National Highway 66 (Left Hand Side)	MALAPPURAM	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
334	From Oravampuram bridge to Mythri auditorium, Kamanam On state highway	MALAPPURAM	Regular	120	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
335	From Anvarul Islam Arabic College Thirurkkad to KSRTC Bus stand Perinthalmanna on National Highway 966	MALAPPURAM	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
336	From Ramapuram Service Cooperative Bank Head Office, Ramapuram to Village office Valamboor on National Highway 966 (Right Hand side)	MALAPPURAM	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
337	From Areecode Panchayath stadium to Govt. Veterinary dispensary Edavanna on state highway	MALAPPURAM	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
338	From Government Higher Secondary School Pookkottur to Alathurpadi Dars & Juma masjid on National Highway 966 (Left Hand Side)	MALAPPURAM	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
339	Within 4Kms from Velimukku Service Cooperative Bank, Velimukku towards Kolappuram Junction On National Highway 66 (Left Hand Side)	MALAPPURAM	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
340	Within 4 Kms from Velimukku Service Cooperative Bank, Velimukku towards Kolappuram Junction On National Highway 66(Right Hand Side)	MALAPPURAM	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
341	From GMHSS Irumpuzhi to Govt. Boys HSS Manjeri on state highway	MALAPPURAM	Regular	130	OPEN CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
342	From Cherukavu Village Office, cherukavu to Kondotty Bus stand, Kondotty On National Highway 966 (Right Hand Side)	MALAPPURAM	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/ CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
343	Within 4 km from Kuttippuram Bridge towards Ponnani On National Highway 66 (Right Hand Side)	MALAPPURAM	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
344	From AUP School Karakkunnu to Deluxe Convention Centre Pathapiriyam, Edavanna On state highway	MALAPPURAM	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
345	From Pattambi -Cherupulassery Junction on Pattambi Perinthalmanna Road to Aided UP school Cherukara On state highway	MALAPPURAM	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
346	Payyanad Post office to Velluvangad Bridge (Within Manjeri Muncipality Limits)	MALAPPURAM	Regular	120	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
347	From Kerala Gramin Bank, Venniyour to Valakolam Post Office, Kozhichena on National Highway 66 (Right Hand Side)	MALAPPURAM	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
348	From GMLPS Chandakunnu to Karimpuzha bridge on state highway	MALAPPURAM	Regular	130	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
349	From Thenhipalam Panchayat office, chelari to Chettiyarmadu Bus stop, Thenhipalam on National Highway 66 (Right Hand Side)	MALAPPURAM	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
350	From GMLP school Morayur to KSEB Assistant Engineer office, Valluvambram on National Highway 966 (Left Hand side)	MALAPPURAM	Regular	170	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
351	From KSEB Substation Munduparamba to GMUPS Irumbuzhi on state highway	MALAPPURAM	Regular	140	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
352	In Kottakkal New Bypass Road Right Hand Side from Thrissur on National Highway 66	MALAPPURAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
353	Valanchery New National Highway 66 bypass road (Left Hand Side from Thrissur side)	MALAPPURAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
354	From Al abeer Hospital Kizhisseri to Chemrakkattur Post office on state highway	MALAPPURAM	Regular	120	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
355	From Pandikkad Central Juma Masjid to Ayanikkod sunni masjid On state highway	MALAPPURAM	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
356	From Government High School, Palapetty to Puthuponnani Bridge on National Highway 66 (Right Hand Side)	MALAPPURAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
357	From Orchid Hospital Kizhakkethala (Malappuram) to GMLP school Oorakam Melmuri (Karathode) On state Highway	MALAPPURAM	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
358	Kozhikode Bypass road within Perinthalmanna muncipality limits (Kozhikode Road- Manathumangalam)	MALAPPURAM	Regular	130	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
359	Within 4 km from Kuttippuram Bridge towards Ponnani On National Highway 66 (Left Hand Side)	MALAPPURAM	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
360	From Cherukara Post office to State Bank of India Pulamanthole On state Highway	MALAPPURAM	Regular	130	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
361	From Munda Post office to Vazhikkadavu Bus stand on state highway	MALAPPURAM	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
362	From Government High School, Palapetty to Puthuponnani Bridge on National Highway 66 (Left Hand Side)	MALAPPURAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
363	From Oniyappalam Bridge, Valanchery to Kuttippuram Block Panchayat Government Health centre on National Highway 66 (Left Hand Side)	MALAPPURAM	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
364	Within Chelembra Revenue Village On National Highway 66 towards Calicut (Right Hand Side)	MALAPPURAM	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
365	From Government Higher Secondary School, Anamangad to Thootha Bridge on state highway	MALAPPURAM	Regular	120	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
366	From Charaparambu Bus Stop To Erimayur KTDC Araam on National Highway 544 (Left Hand Side)	PALAKKAD	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
367	From Palakkad (Rappady Open Air Auditorium) To Koduvayur Sub Registrar Office On State Highway 27	PALAKKAD	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
368	Between Walayar Border And Pudussery Grama Panchayath Office (Right Hand Side Towards Kochi From Coimbatore) On National Highway 544	PALAKKAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
369	Within Palakkad Muncipal Limits (On Shoranur Road)	PALAKKAD	Regular	100	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
370	Between Vithanassery (Koduvayur - Vithanasserry Road Junction) And Elavanchery Village Office On State Highway 58	PALAKKAD	Regular	110	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
371	Between Kavassery Krishi Bhavan And Padur Qadiriyya Juma Masjid On State Highway 74	PALAKKAD	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
372	Between Kalladikkode Police Station And Thekkinkoodam Vishnu Lakshmi Narayana Temple Karimba On National Highway 966	PALAKKAD	Regular	150	OPEN	сс	35	35	1225	32	12	Bidding	30	5
373	Between Mundur Junction And Kongad Police Station On State Highway 53	PALAKKAD	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
374	Between Karinkalathani Junction And Nattukal Police Station On National Highway 966	PALAKKAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
375	Between Fire And Rescue Station Pattambi And Kulapully Village Office On State Highway 23	PALAKKAD	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
376	Between Govindapuram Border And Iranjimannam Bhagavathy Temple, Kollengode On State Highway 58	PALAKKAD	Regular	110	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
377	Between Little Flower Church Karimba And Chirakkalppadi Junction On National Highway 966	PALAKKAD	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
378	Between Kayaramkode Juma Masjid And Kongad - Kanjikkulam Road Junction On National Highway 966	PALAKKAD	Regular	150	ОВС	СС	35	35	1225	32	12	Bidding	30	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		ium Dimen: of the site (i	•	arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	SC SC CC-1 SC PH ST ST CC-1	7		8		9a Estimated working capital	9b Estimated fund required for	10	11	12
			Regular / Rural	MS+HSD in KLs	ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area			Draw of Lots / Bidding		
3/9	Between Elappully Grama Panchayath Office And Athicode Junction On State Highway 52 Between Chandranagar Signal Junction And Kuzhalmannam Signal Junction (Right Hand Side	PALAKKAD	Regular	110	ОВС	СС	30	30	900	32	12	Bidding	30	4
380	Towards Kochi From Coimbatore On National Highway 544)	PALAKKAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Between Naragampally Bridge And Chandranagar Signal Junction (Left Hand Side Towards Kochi From Coimbatore On National Highway 544)	PALAKKAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
382	From Sri Mannath Ganpathi Temple, Thiruvazhiyode to 26 Mail Juma Masjid On State Highway 53	PALAKKAD	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
383	From Panniyankara Arya Bhavan Hotel to Vaniyampara Bus Stop On National Highway 544 (Right Hand Side)	PALAKKAD	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
384	Cherpulassery - Ottapalam Road (Within Cherpulassery Municipal limits)	PALAKKAD	Regular	100	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
	From Charaparambu Bus Stop to Erimayur (KTDC Araam) On National Highway 544 (Right Hand Side)	PALAKKAD	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
386	On Left Hand Side From Kalmandapam Juntion To Sekharipuram Junction On Palakkad Bypass Road (Within Muncipal Limits)	PALAKKAD	Regular	140	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
387	On Palakkad - Ponnani Road (Within Ottapalam Municipal Limits)	PALAKKAD	Regular	100	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
388	From Chittur Government Taluk Hospital To Nattukal Athani Hospital On State Highway 25	PALAKKAD	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	On Right Hand Side From Kalmandapam Junction To Sekharipuram Junction On Palakkad Bypass Road (Within Muncipal Limits)	PALAKKAD	Regular	140	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
390	Palakkad Malampuzha 100 Feet Road (Within Palakkad Municipal Limits)	PALAKKAD	Regular	100	OBC CC 1	DC	20	25	500	32	55	Draw of Lots	15	4
391	Pathanamthitta Town (on Ring Road)	PATHANAMTHITTA	Regular	150	ОВС	СС	20	25	500	32	12	Bidding	30	4
392	Between Kaipattoor Junction and Makkamkunnu St. Stephens Church Junction on NH 183A	PATHANAMTHITTA	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
393	Between Mylapra Junction and Mannarakulanji turning Junction on NH 183A	PATHANAMTHITTA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
394	Thiruvalla Bypass Road	PATHANAMTHITTA	Regular	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
395	Between Pullad Junction and Vennikulam Junction on State Highway 9	PATHANAMTHITTA	Regular	135	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
396	Between Pathanamthitta town and Thazoor Junction (on Pathanamthitta - Thazhoorkadavu Road)	PATHANAMTHITTA	Regular	110	SC	CFS	20	25	500	0	0	Draw of Lots	0	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i	•	arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	Estimated fund required for developm ent of infrastruct ure at RO (Rs In Lakhs)	Draw of Lots / Bidding		
397	Between Manthamaruthi Junction and Placherry Junction on State Highway 8	PATHANAMTHITTA	Regular	165	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
398	Between Uthimoodu Junction to Mandiram Junction on State Highway 8	PATHANAMTHITTA	Regular	165	OPEN	СС	30	30	900	32	12	Bidding	30	5
399	Between Koodal Junction and Konni Junction on State Highway 8	PATHANAMTHITTA	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
400	Between Thekkemala junction and Arattupuzha Junction on State Highway 10	PATHANAMTHITTA	Regular	135	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
401	Between Konni Junction and Kumbazha Junction on State Highway 8	PATHANAMTHITTA	Regular	140	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
402	Between Puthuval Junction and Parakode Junction on State Highway 5	PATHANAMTHITTA	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
403	Between Eraviperoor Junction and Kozhencherry Pvt. Bus Stand Junction towards Kozhencherry (Right Hand Side) on State Highway 7	PATHANAMTHITTA	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
404	Within Town Limits of Mallapally (On Mallapally -Ezhumattor Road)	PATHANAMTHITTA	Regular	100	ОВС	DC	20	25	500	32	55	Draw of Lots	15	4
405	Between Podiyadi Junction and Neerettupuram junction on State Highway 12	PATHANAMTHITTA	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
406	Between Adoor -High School Junction and Pazhakulam on State Highway 5	PATHANAMTHITTA	Regular	135	OPEN	сс	30	30	900	32	12	Bidding	30	5
407	From Kazhakuttom Junction to Menamkulam Junction (Within Trivandrum Corporation Limits)	THIRUVANANTHAPURAM	Regular	220	ОВС	СС	20	25	500	32	12	Bidding	30	4
408	Between Kaimanam Junction and Thiruvallam School Junction on Thiruvallam-Kaimanam Road	THIRUVANANTHAPURAM	Regular	175	OPEN	СС	20	25	500	32	12	Bidding	30	5
409	Between Vizhinjam Port Gate and NH 66 Junction (on Right Hand Side of Vizhinjam Container Terminal Road)	THIRUVANANTHAPURAM	Regular	175	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
410	From Mangalapuram Junction to Mamam Junction on NH 66 Towards Attingal (Left Hand Side)	THIRUVANANTHAPURAM	Regular	350	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
411	From Thiruvallom toll to Kalluvettankuzhy on Kovalam-Karodu NH 66 (Right Hand Side) (Within Trivandrum Corporation Limit)	THIRUVANANTHAPURAM	Regular	175	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
412	Between Ulloor Junction and Kuzhivila Junction(on Ulloor - Aakkulam Road Via Puliyanarkotta)	THIRUVANANTHAPURAM	Regular	175	OPEN	СС	20	25	500	32	12	Bidding	30	5
413	From Thiruvallom toll to Kalluvettankuzhy on Kovalam-Karodu NH 66 (Left Hand Side) (Within Trivandrum Corporation Limit)	THIRUVANANTHAPURAM	Regular	180	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
414	From Karyavattom Junction to Chenkottukonam Junction (Within Trivandrum Corporation Limit)	THIRUVANANTHAPURAM	Regular	180	ОВС	DC	20	25	500	32	75	Draw of Lots	15	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
415	Between Peroorkada Junction and Mannarakonam Junction (On Peroorkada - Vattiyoorkavu Road)	THIRUVANANTHAPURAM	Regular	150	OPEN	DC	20	25	500	32	75	Draw of Lots	15	5
416	Between Mannanthala and Charummoodu (On Sreekariyam - Powdikonam - Pothencode Road)	THIRUVANANTHAPURAM	Regular	180	OPEN	СС	20	25	500	32	12	Bidding	30	5
417	Between Kovalam Junction and Kovalam Beach (on Kovalam Beach Road)	THIRUVANANTHAPURAM	Regular	150	ОВС	DC	20	25	500	32	75	Draw of Lots	15	4
418	Within Neyyattinkara Municipal Limits (On Neyyatinkara-Kattakada Road)	THIRUVANANTHAPURAM	Regular	105	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
419	Between Thiruvallam Junction and Vazhamuttom Junction (via Pachalloor School not on NH)	THIRUVANANTHAPURAM	Regular	200	ОВС	DC	20	25	500	32	75	Draw of Lots	15	4
420	Between Vellaikadavu Junction and Thoppumukku Junction (Via Moonnammudu) Within Trivandrum Corporation Limits	THIRUVANANTHAPURAM	Regular	150	ОВС	DC	20	25	500	32	75	Draw of Lots	15	4
421	Edapazhinji Junction via kochar Road to Maruthankuzhy Junction	THIRUVANANTHAPURAM	Regular	150	OPEN CC 1	DC	20	25	500	32	75	Draw of Lots	15	5
422	Kallambalam Junction to Varkala Railway Station (Via Narikkal)	THIRUVANANTHAPURAM	Regular	105	ОВС	DC	20	25	500	32	55	Draw of Lots	15	4
423	Mannanthala Junction to East Mukkola via Peroorkada-Mannanthala Road	THIRUVANANTHAPURAM	Regular	150	OBC CC 1	DC	20	25	500	32	75	Draw of Lots	15	4
424	Kovalam Junction to Vizhinjam Junction not on NH 66	THIRUVANANTHAPURAM	Regular	175	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	3
425	Nedumangad to Koraliyodu via Karipoor	THIRUVANANTHAPURAM	Regular	110	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
426	Between Kanjiramkulam Junction and Chappath Junction (via Marappalam Road)	THIRUVANANTHAPURAM	Regular	105	ОВС	DC	20	25	500	32	55	Draw of Lots	15	4
427	Between Peroorkada Junction to Kowdiar Junction Trivandrum City Corporation Limit)	THIRUVANANTHAPURAM	Regular	175	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
428	From Kaniyapuram Junction to Mangalapuram Junction on NH 66 Towards Mangalapuram (Left Hand Side)	THIRUVANANTHAPURAM	Regular	330	OPEN	СС	35	35	1225	32	12	Bidding	30	5
429	Between Neyyattinkara Junction and Inchivila Junction on NH 66 (Within Kerala State on Right hand side of NH 66)	THIRUVANANTHAPURAM	Regular	170	ОВС	СС	35	35	1225	32	12	Bidding	30	4
430	Killipalam Junction to Nemom Junction on NH 66 (Right Hand Side) in Trivandrum Corporation Limit	THIRUVANANTHAPURAM	Regular	175	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
431	Pananvila Junction to Chekkalamukku Junction via Kariyam Junction	THIRUVANANTHAPURAM	Regular	175	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
432	Pettah Junction to Anayara Junction Via Kadakampally	THIRUVANANTHAPURAM	Regular	150	OBC PH	DC	20	25	500	32	75	Draw of Lots	15	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		ium Dimen: of the site (i	•	arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
433	Akkulam to College of Engineering Via Alathara Road	THIRUVANANTHAPURAM	Regular	175	SC PH	CFS	20	25	500	0	0	Draw of Lots	0	3
434	From Chullimanoor Junction to Elavattom Junction on State Highway 2	THIRUVANANTHAPURAM	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
435	Between Neyyattinkara Junction and Inchivila Junction on NH 66 (Within Kerala State on Left hand side of NH 66)	THIRUVANANTHAPURAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
436	From Alamkode Junction to Kilimanoor Junction on State Highway 46	THIRUVANANTHAPURAM	Regular	130	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
437	Between Pravachabalam Junction and Neyyattinkara Junction on NH 66 (Left Hand Side)	THIRUVANANTHAPURAM	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
438	From Keltron Junction to Valikode Junction on State Highway 2	THIRUVANANTHAPURAM	Regular	150	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
439	From Chullimanoor Junction to Pazhakutty Junction on State Highway 2	THIRUVANANTHAPURAM	Regular	160	OPEN	сс	30	30	900	32	12	Bidding	30	5
440	Pattom Junction to Kowdiar Junction Trivandrum Corporation Limits Via Kuravankonam	THIRUVANANTHAPURAM	Regular	175	OBC CC 1	DC	20	25	500	32	75	Draw of Lots	15	4
441	New Vizhinjam-Navaikulam Outer Ring Road: Mudavoorpara to Valiyarthala (Left Hand Side)	THIRUVANANTHAPURAM	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
442	From Vettu Road Junction to Pothencode Junction on MC Bypass Road (Outside Trivandrum Corporation Limits)	THIRUVANANTHAPURAM	Regular	200	ОВС	СС	30	30	900	32	12	Bidding	30	4
443	Between Vembayam Junction to Pazhakutty Junction on State Highway 47	THIRUVANANTHAPURAM	Regular	170	OPEN	сс	30	30	900	32	12	Bidding	30	5
444	Between Venjaranmoodu Junction and Kilimanoor Junction on State Highway 1	THIRUVANANTHAPURAM	Regular	180	OPEN	сс	30	30	900	32	12	Bidding	30	5
445	From Nanniyodu Junction to Elavupalam Junction on State Highway 2 (Within Trivandrum District Limit)	THIRUVANANTHAPURAM	Regular	140	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
446	From Nettirachira Junction to Uzhamalakkal Junction on State Highway	THIRUVANANTHAPURAM	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
447	Between Vellarada Junction and Kallikkad Junction on State Highway (Within Kerala State Limits)	THIRUVANANTHAPURAM	Regular	110	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
448	Lulu Mall Aakkulam to Thiruvallam Junction on NH 66 (Right Hand Side)	THIRUVANANTHAPURAM	Regular	180	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
449	Vithura KSRTC Bus Depot to Tholikode Junction on State Highway	THIRUVANANTHAPURAM	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
450	Mukkola to Cheruvarakonam on Kovalam-Karodu NH 66 within Kerala State (Right Hand Side)	THIRUVANANTHAPURAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/ CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
451	New Vizhinjam-Navaikulam Outer Ring Road: Killy to Aruvikkara (Left Hand Side)	THIRUVANANTHAPURAM	Regular	160	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
452	New Attingal Bypass from Mamam to Manambur on NH 66 Towards Kollam (Left Hand Side)	THIRUVANANTHAPURAM	Regular	290	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
453	From Mamam Junction to Venjranmoodu KSRTC Junction on State Highway 47	THIRUVANANTHAPURAM	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
454	Between Attakulangara Junction to Killipalam Junction (on Attakulangara Bye-Pass)	THIRUVANANTHAPURAM	Regular	190	OBC	СС	30	30	900	32	12	Bidding	30	4
455	Paruthippara Junction to Ambalamukku Junction (on Paruthippara Ambalamukku Road)	THIRUVANANTHAPURAM	Regular	180	OPEN	СС	20	25	500	32	12	Bidding	30	5
456	Mukkola to Cheruvarakonam on Kovalam-Karodu NH 66 within Kerala State (Left Hand Side)	THIRUVANANTHAPURAM	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
457	Lulu Mall Aakkulam to Thiruvallam Junction on NH 66 (Left Hand Side)	THIRUVANANTHAPURAM	Regular	180	OBC	сс	30	30	900	32	12	Bidding	30	4
458	New Vizhinjam-Navaikulam Outer Ring Road: Vizhinjam to Mudavoorpara (Left Hand Side)	THIRUVANANTHAPURAM	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
459	New Vizhinjam-Navaikulam Outer Ring Road: Valiyarthala to Killy (Left Hand Side)	THIRUVANANTHAPURAM	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
460	Kesavadasapuram Junction to Mannanthala Junction on MC road (Within Trivandrum Corporation Limits)	THIRUVANANTHAPURAM	Regular	150	OBC CC 1	DC	20	25	500	32	75	Draw of Lots	15	4
461	Between Erumapetty Police Station And Our Lady Of Mount Carmel Church Kundannur (On State Highway 50)	THRISSUR	Regular	180	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
462	Between St. Thomas Syro Malabar Cathedral, Irinjalakkuda And Mapranam Shivadham Cinemas On State Highway 22	THRISSUR	Regular	110	OBC	СС	30	30	900	32	12	Bidding	30	4
463	Between State Bank of India, Pazhayannur And IHRD College of Applied Sciences, Pazhayannur On State Highway 77	THRISSUR	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
464	From Amballur Sree Lakshmi Cinemas To Perambra South Indian Bank On National Highway 544 (Right Hand Side)	THRISSUR	Regular	210	OPEN	СС	35	35	1225	32	12	Bidding	30	5
465	From Amballur Sree Lakshmi Cinemas To Perambra South Indian Bank On National Highway 544 (Left Hand Side)	THRISSUR	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
466	From Perambra Apollo Tyres to Chalakkudi D Cinemas Theatre On National Highway 544 (Left Hand Side)	THRISSUR	Regular	195	OBC	СС	35	35	1225	32	12	Bidding	30	4
467	On Koorkanchery- Chiyyaram Road (Within Municipal Limits)	THRISSUR	Regular	180	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
468	On West Palace Road (Within Muncipal Limits)	THRISSUR	Regular	230	OBC	СС	20	25	500	32	12	Bidding	30	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/ CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
469	Between Devasons A/C Auditorium And ESI Dispensary Wadakkanchery On State Highway 50	THRISSUR	Regular	110	ОВС	сс	30	30	900	32	12	Bidding	30	4
470	Between Kerala Kalamandalam And Attoor Gate Bus Stop On State Highway 22	THRISSUR	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
471	Between State Bank Of India, Chowannur And Al Ameen Hospital, Chiramanangad (On State Highway 50)	THRISSUR	Regular	180	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
472	Between State Bank Of India, Perumpilavu And Royal Plaza Auditorium, Kadavallur (On State Highway 69)	THRISSUR	Regular	160	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
473	Between Thiruvilwamala Muhiyudheen Juma Masjid And Lakkidi Bharatapuzha Bridge On State Highway 77	THRISSUR	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
474	Between Peramangalam Post Office And Mundur Post Office On Left Hand Side (On State Highway 69)	THRISSUR	Regular	260	OBC	СС	30	30	900	32	12	Bidding	30	4
475	From Chirangara Bus Stop To Pongam Appollo Adlux Hospital On National Highway 544 (Left Hand Side)	THRISSUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
476	From Government Higher Secondary School, Punkunnam To IAN Institute Of Rehabilitation & Research (On State Highway 69)	THRISSUR	Regular	250	OPEN	СС	30	30	900	32	12	Bidding	30	5
477	From Dass Regency, Kanimangalam To Urakam Post Office (On State Highway 22)	THRISSUR	Regular	180	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
478	Between Pookode Village Office and State Bank of India, Punnayurkulam (On State Highway 62)	THRISSUR	Regular	130	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
479	Between Chalakudi Town State Bank Of India And Pariyaram Post Office On State Highway 21	THRISSUR	Regular	115	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
480	From Illathe Masjid, Orumanayur To Lions Club Vadanappally On New National Highway 66	THRISSUR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
481	From Mudikode Masjid To Mannuthy Don Bosco Central School On National Highway 544 (Right Hand Side)	THRISSUR	Regular	190	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
482	From Kuttanelloor Mahindra Eram Motors To Thalore Decathlon On National Highway 544 (Right Hand Side)	THRISSUR	Regular	190	OPEN	СС	35	35	1225	32	12	Bidding	30	5
483	From Choondal Grama Panchayath Office To RH Cinema, Kunnamkulam (On State Highway 69)	THRISSUR	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
484	Between Kombodinjamakkal Junction Bus Stop And Kundayi Junction Catholic Syrian Bank On State Highway 51	THRISSUR	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
485	From Patturiakal Junction To Viyyur Bridge (Right Hand Side) On State Highway 22	THRISSUR	Regular	180	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
486	From Katupuram Sree Vettaikaran Temple, Andathode To Sidqulislam Madrasa Akalad On National Highway 66 (Left Hand Side)	THRISSUR	Regular	260	ОВС	СС	35	35	1225	32	12	Bidding	30	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
				MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
487	From Perambra Apollo Tyres To Chalakkudi D Cinemas Theatre On National Highway 544 (Right Hand Side) Between KSEB Office, Choondal And Urban Family Health Centre, East Nada, Guruvayur (On State	THRISSUR	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
488	Highway 49)	THRISSUR	Regular	210	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
489	Between St. Anne's Convent Girls High School, Kanjani And Hotel Niya Regency (On State Highway 75)	THRISSUR	Regular	220	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
490	From Akalad Juma Masjid To Orumanayur Grama Panchayath Office On National Highway 66 (Right Hand Side)	THRISSUR	Regular	240	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
491	Limits)	THRISSUR	Regular	260	ST	CFS	20	25	500	0	0	Draw of Lots	0	3
492	Between St. Thomas Thope Higher Secondary School, East Fort And ESAF Bank, Kalathode On Thrissur - Palakkad Road (Within Municipal Limits)	THRISSUR	Regular	260	ОВС	DC	20	25	500	32	55	Draw of Lots	15	4
493	From Palapetty Upper Primary School To St. Joseph Higher Secondary School Mathilakam On National Highway 66 (Left Hand Side)	THRISSUR	Regular	290	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
494	Between Chelakkara Police Station And Chelakkara Chirangonam Muslim Mosque On State Highway 74	THRISSUR	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
495	Between Dhanya Resorts, Vadanapally And Muriyamthode Masjid, Muriyamthodu On New National Highway 66 (On Left Hand Side)	THRISSUR	Regular	300	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
496	Between Mar Aprem Church And St. Augustine Higher Secondary School On Thrissur Mannamangalam Road (Within Municipal Limits)	THRISSUR	Regular	220	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
497	Between Irinjalakuda Private Bus Stand And Illikkad Bus Stop On Irinjalakuda Kattoor Road (Within Muncipal Limits)	THRISSUR	Regular	140	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
498	Between Dhanya Resorts, Vadanapally And Muriyamthode Masjid, Muriyamthodu On New National Highway 66 (On Right Hand Side)	THRISSUR	Regular	300	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
499	Between Jubilee Mission Hospital And Hira Juma Masjid On Ikkanda Warrior Road (Within Municipal Limits)	THRISSUR	Regular	180	OPEN	СС	20	25	500	32	12	Bidding	30	5
500	From Mathilakam Police Station To Bava's Square Building, Kodungallur On National Highway 66 (Left Hand Side)	THRISSUR	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
501	Between Parlikkad Post Office And Mullurkkara Juma Masjid On State Highway 22	THRISSUR	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
502	From Kalyan Expressmart, Mulamkunnathkavu To Vyasa College Bus Stop (On State Highway22)	THRISSUR	Regular	270	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
503	From Kainatty Traffic signal Junction to Meenangadi Bus Stand on National Highway 766	WAYANAD	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
504	From Lakkidi (Wayanad District entrance gate from Kozhikode) to Vythiri Grama Panchayath office on National Highway 766	WAYANAD	Regular	180	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
505	From Village Office Kottappadi at Meppadi To Thinapuram Juma Masjid, Muppainadu on State Highway 29	WAYANAD	Regular	110	OPEN	СС	30	30	900	32	12	Bidding	30	5
506	From Government College Mananthavady main gate to Panamaram bus stand on State Highway via Dwaraka – Anjam Mile	WAYANAD	Regular	120	OPEN	СС	30	30	900	32	12	Bidding	30	5
507	From Chundale Bus Stand to Kainatty traffic signal, Kalpetta on National Highway 766	WAYANAD	Regular	180	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
508	From Meenangadi Bus Stand Junction to Government Technical High School Sulthan Bathery on National Highway 766	WAYANAD	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
509	From Krishibhavan Vengappally to Chennalode south mosque Padinjarethara (On State Highway)	WAYANAD	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
510	From Periya 39 (Vallithodu) to Periya 34 on State Highway (Mananthavady - Nedumpoyil road)	WAYANAD	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
511	From Sulthan Bathery Gandhi Junction to Nenmeni Road within Sulthan Bathery Municipal Limits	WAYANAD	Regular	120	OBC	DC	20	25	500	32	55	Draw of Lots	15	4
512	From Kambalakkad Police Station to Panamaram bus stand on State Highway	WAYANAD	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
513	From Juma masjid Chundel to Village Office Kottappadi at Meppadi on State Highway	WAYANAD	Regular	120	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
514	From Kainatty Traffic Signal to Kambalakkad Police Station on State Highway	WAYANAD	Regular	120	OPEN	сс	30	30	900	32	12	Bidding	30	5
515	From A R Bakes, Kanichkulangara To Govt. High School, Kanichkulangara	ALAPPUZHA	Rural	80	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
516	From Kadakkarapally Post Office To Thanky Junction (Kadakkarapally Road)	ALAPPUZHA	Rural	100	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
517	From Kanjippadam Bridge To Kondakal Ayurveda Govt Hospital	ALAPPUZHA	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
518	From Kambissery Hospital To Vallikunnam Panchayath Office	ALAPPUZHA	Rural	90	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
519	From MIM Juma Masjid To Federal Bank, Kambissery	ALAPPUZHA	Rural	90	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
520	From Pathiyoorkala Juma Masjid, Chudukad To S.K.V.N.S.S School, Evoor	ALAPPUZHA	Rural	80	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
521	From Salem Mar Thoma Syrian Church, Nooranad To Government UP School, Kudassanad (Outside Municipal Limits)	ALAPPUZHA	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
522	From Tagore Memorial U P School, Maruthorvattom To St. Thomas Church, Kizhakkammury (Outside Municipal Limits)	ALAPPUZHA	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	nt for	required for	Draw of Lots / Bidding		
523	From Shaheedar Juma Masjid, Arattupuzha To Arattupuzha Government Homoeo Dispensary	ALAPPUZHA	Rural	80	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
524	From Kumarakodi Bridge To Marthoma Syrian Church On Kumarakodi Road	ALAPPUZHA	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
525	From Thrikunnappuzha Bridge To St Thomas Orthodox Cathedral, Karthikapally	ALAPPUZHA	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
526	Within 4 Km From Kottappady Village Office On Kothamangalam To Kottapady Road	ERNAKULAM	Rural	110	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
527	From Govt. UP School Kurumassery To Moozhikulam Bridge, Kurumassery	ERNAKULAM	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
528	From Kanjiramattom Millungal Junction To Arakunnam St George Kurishupally Via Edakkattuvayal Govt Homeo Dispensary	ERNAKULAM	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
529	From Meempara Post Office To Maneed Village Office On Maneed - Meempara Road	ERNAKULAM	Rural	88	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	2
530	From Nedumbassery Grama Panchayat Office To St.Antony's LP School, Mattoor On Kariyad - Airport - Mattoor Road	ERNAKULAM	Rural	215	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
531	Between Arayankavu Bhagawathy Temple And Poothotta SN Junction (Not On State Highway)	ERNAKULAM	Rural	100	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
532	From St. George Jacobite Church Cemetery, Chembarakky To State Bank Of India, Pookkattupady On Pukkattupady - Perumbavoor Road	ERNAKULAM	Rural	115	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
533	From Marampally Village Office To Palakkatuthazham Junction, Perumbavoor On Aluva - Perumbavoor Road (Outside Municipal Limits)	ERNAKULAM	Rural	184	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
534	From Thevakkal Junction To Pookkattupady Post Office On Edappally - Pukkattupady Road (Outside Municipal Limits)	ERNAKULAM	Rural	225	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
535	Airapuram (Not on State Highway)	ERNAKULAM	Rural	88	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
536	From Sreemoolanagaram Government Hospital To Parappuram Post Office Junction	ERNAKULAM	Rural	95	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
537	Between Kumbalangi Perumbadappu Bridge and Dehon Bhavan-SCJ Minor Seminary on Kumbalangi Road (within Kumbalangi Grama Panchayath)	ERNAKULAM	Rural	130	SC PH	CFS	20	25	500	0	0	Draw of Lots	0	2
538	From Thirumuppam Mahadeva Temple To Maha Naghaghaandhaari Kamakshi Amman Temple, Kottuvally On Thonniyakavu -Thrikkapuram Road	ERNAKULAM	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
539	From St. Peter's And St. Paul's Jacobite Church, Kizhakkambalam To Rabia Women's College On Chithrappuzha - Ponjassery Road	ERNAKULAM	Rural	165	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
540	From Vengola Service Co-Operative Bank Ltd, Ponjassery To St. George Public School, Mannoor On Ponjassery - Mannoor Road	ERNAKULAM	Rural	148	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN COPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
541	From Mavinchuvadu Masjid To Hanuman Temple, Athani On Athani - Paravur Road (Outside Municipal Limits)	ERNAKULAM	Rural	117	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
542	From Pattam Junction To Kurumassery Junction On Aluva - Mala Road (Outside Municipal Limits)	ERNAKULAM	Rural	132	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
543	From Kadambrayar Bridge To Karimugal Junction On Infopark Road (Outside Municipal Limits)	ERNAKULAM	Rural	155	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
544	From Kuruppampady Police Station To Keezhillam Junction On Keezhillam - Kurichilacode Road	ERNAKULAM	Rural	86	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
545	From Paliyakal Co-operative Society Bank, Paravur To Ezhikkara Bypass Junction On Chathanad Road	ERNAKULAM	Rural	134	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
546	From Desom Junction To PMM Hospital, Kalady On Kalady - Aluva Road (Outside Municipal Limits)	ERNAKULAM	Rural	140	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
547	From Kuzhikkattukara Muslim Juma Masjid To Aluva Sharon Fellowship Church On NAD Road (Outside Municipal Limits)	ERNAKULAM	Rural	101	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
548	From West Kadungalloor Junction To East Kadungalloor Junction On Kadungalloor Road	ERNAKULAM	Rural	125	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
549	From Kalady Police Station To Karppillikkavu Sree Mahadeva Temple, Manjapra On Kalady Manjapra Road	ERNAKULAM	Rural	156	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
550	From Choondy Junction To St. George Public School, Pookkattupady On Aluva - Pukkattupady Road (Outside Municipal Limits)	ERNAKULAM	Rural	135	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
551	From Govt. LP School, Karumalloor To UC College Post Office On Aluva Paravur Road (Outside Municipal Limits)	ERNAKULAM	Rural	160	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
552	From Aluva Passport Office To Marampally Post Office On Aluva - Perumbavoor Road (Outside Municipal Limits)	ERNAKULAM	Rural	208	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
553	From St Jude'S Shrine, Yoodhapuram To Manjapra Grama Panchayat Office On Angamaly Manjapra Road (Outside Municipal Limits)	ERNAKULAM	Rural	161	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
554	From Karumalloor Panchayath Office To KVLP School, Vedimara On Aluva Paravur Road (Outside Municipal Limits)	ERNAKULAM	Rural	215	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
555	Between Athani Airport Junction And Airport Road Bridge On Airport Road	ERNAKULAM	Rural	220	OPEN	СС	20	25	500	16	6	Bidding	10	4
556	From Thuruthipuram Bridge To Kanakkankadavu Bridge On Kanakkankadav Putthanvelikkara Road	ERNAKULAM	Rural	164	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
557	From Kunjithani Bridge To Govt Higher Secondary School, Bison Valley (Via Pottancadu)	IDUKKI	Rural	140	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
558	Within 3 Km From GTHS Valacode in Upputhara Village	IDUKKI	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4 Regular / Rural	MS+HSD in KLs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2	7 CC/DC/ CFS	Frontage	8 Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding	11	12
559	Vathikudy (Not On State Highway)	IDUKKI	Rural	80	OPEN PH SC	CFS	20	25	500	0	0	Draw of Lots	0	2
560	Between Muttanur Juma Masjid and KPC HSS, Pattanur on Thalassery - Irikkur Road	KANNUR	Rural	150	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
561	Kolavelloor Revenue Village (On Kannavam - Kunnothuparamba Road)	KANNUR	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
562	Between Pinarayi and Mambaram Juma Masjid on Thalassery - Irukkur Road	KANNUR	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
563	Kandankunnu Revenue Village (on Thalassery - Baveli Road)	KANNUR	Rural	70	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
564	Between Madayi and Mattool on Madayi - Mattool Road	KANNUR	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
565	From Eripuram Chengal LP school, Aduthila to Thavam Railway Overbridge, Cherukunnu via Pilathara-Pappinnissery road	KANNUR	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
566	Pattannur Revenue Village limits (On Mattannur - Kolappa Road)	KANNUR	Rural	70	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
567	Muzhakkunnu Revenue Village (On Iritty - Peravoor - Nedumpoyil Road)	KANNUR	Rural	80	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
568	Anjarakkandy Revenue Village (on Chovva - Anjarakkandy - Keezhallur - Mattannur Road)	KANNUR	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
569	Vellarvally (on Thettuvazhi -Manathana road)	KANNUR	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
570	Nuchiyad Revenue Village (on Vattiyamthode - Manikkadavu Road)	KANNUR	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
571	Anjarakkandy Revenue Village (on Thalassery - Irukkur Road)	KANNUR	Rural	70	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
572	Keezhallur Revenue Village (on Chovva - Anjarakkandy - Keezhallur - Mattannur Road)	KANNUR	Rural	100	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
573	Mavilayi Revenue Village (On Chala - Thannada - Poduvachery - Chakkarakkal Road)	KANNUR	Rural	80	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
574	Payangadi Police Station to Vengara Post Office via Vengara mukku (not on State Highway)	KANNUR	Rural	60	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
575	Between Melur and Kadachira on Dharmadom - Melur - Mammakunnu - Kadachira Road	KANNUR	Rural	70	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
576	From Chumadathangi Sree Muthappan Temple, Pilathara to Ramapuram bridge, Ramapuram on Pilathara-Pazhayangadi KSTP Road	KANNUR	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
577	Between Chelerimukku and Kolacherimukku (On Chelerimukku - Kolacherimukku Road)	KANNUR	Rural	90	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
578	From Manikkal Bridge to Therthally Bustop via Chapprapadavu-Therthally road	KANNUR	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
579	Puthur Revenue Village (On Kannavam - Kunnothuparamba Road)	KANNUR	Rural	70	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
580	From Kankole South Indian Bank to Aravanachal Post Office (on Kankol-Cherupuzha Road)	KANNUR	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
581	Between Kannapuram Railway Station and Cherukunnu Service Cooperative Bank Auditorium, Thavam (On Pappinissery - Pilathara Road)	KANNUR	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
582	Between Pappinissery and Kannapuram Bank Auditorium, Kannapuram (On Pappinissery - Pilathara Road)	KANNUR	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
583	Between Chalode Junction and Koodali Gramapanchayat Office on Thalassery - Irikkur Road	KANNUR	Rural	150	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
584	Kannur University Palathadam Campus to Koovatty Bridge via Nileshwar-Edathode Road	KASARAGOD	Rural	80	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
585	Within 3 kms from Chowki Junction on Chowki-Oliyathadukka Road (Not on National Highway/ State Highway/ Municipality Limits)	KASARAGOD	Rural	80	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
586	3 kms on either side Kalichanadukam post office on Chayyoth-Edathode Road	KASARAGOD	Rural	60	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
587	From Bekal Railway Over bridge to Periyathadukkam NH intersection on Bekal Periyathadukkam Road (not on National Highway/ State Highway)	KASARAGOD	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
588	From Ganesh Mukku to Pilicode NH intersection on Thottam-Padne Road (Not on National Highway/ State Highway)	KASARAGOD	Rural	80	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
589	From Vidyanagar-NH Junction to Badar Juma Masjid on Vidyanagar-Uliyathadukka Road (not on National Highway/ State Highway/ Municipal Limits)	KASARAGOD	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
590	From Meethal Mangad Woodmill to Chattanchal Bank of Baroda on Kalanad Road	KASARAGOD	Rural	60	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
591	Chattanchal National Highway Intersection to - Melparamba State Highway Intersection via Kadappallam (not on National Highway/ State Highway)	KASARAGOD	Rural	70	OBC CC 1	DC	20	25	500	16	35	Draw of Lots	5	3
592	Between Chakkuvalli Junction and Edakkad Junction (on Chakkuvalli-Malanada-Edakkad Road)	KOLLAM	Rural	105	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
593	From Manrothuruthu Junction to Perumon Junction via Perumon bridge	KOLLAM	Rural	105	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
594	Between Kannanellor Vadakemukku Junction and Pallimon Junction Via Kulapadam	KOLLAM	Rural	130	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
595	Between Kunnikode and Pattazhi via Thalavoor on Kunnikode -Pattazhi road	KOLLAM	Rural	105	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
596	Between Patharam Junction and Malumel Bridge (on Patharam - Malumel Road)	KOLLAM	Rural	105	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
597	From Umayanalloor Junction to Mylapore Junction Via Industrial Estate road(Outside Corporation Limits)	KOLLAM	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
598	Within Kummil Panchayath Limits (on Kadackal - Pangode road)	KOLLAM	Rural	105	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
599	From Puthiyakavu Junction to Kattikadavu Ground on Puthiyakavu- Kattilkadavu Road via sanghapura Junction (Outside muncipal limit)	KOLLAM	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
600	Between AVHS Junction and Ashanmukku Junction on Sri Buddha School Road	KOLLAM	Rural	110	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
601	Puthenkulam grama Panchayat office to Nedumgolam (MLA Junction) via alinmood Road,	KOLLAM	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
602	Between Panampatta Junction and Kariyara Junction on (Panampatta - Punalur Road)	KOLLAM	Rural	105	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
603	Between Cheerankavu Junction to Puthoor Junction via Maranadu (on Cheerankavu - Puthoor Road)	KOLLAM	Rural	85	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
604	Between Puthoormukku junction and Puthoor town on Enathu-Puthoor road	KOLLAM	Rural	100	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
605	Between Decent Mukku Junction and Kannanellor Junction on Kollam - Ayoor Road (Outside Corporation Limit)	KOLLAM	Rural	140	OPEN CC 2	DC	20	25	500	16	35	Draw of Lots	5	4
606	Between Paripally Junction and Paravoor Junction on Paripally-Paravoor Road (Outside Municipal Limit)	KOLLAM	Rural	140	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
607	Between Pathanapuram Junction and Pidavoor Bridge on Pathanpuram-Kunnikode road	KOLLAM	Rural	105	OPEN	СС	20	25	500	16	6	Bidding	10	4
608	From Kannanellor Junction to Kottamkkara Junction (On Kottiyam Kundara Road)	KOLLAM	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
609	Between Kottamkkara(Perumpuzha) Junction and Kundara hospital Junction on Kottiyam-Kundara Road	KOLLAM	Rural	120	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
610	Between Oachira Junction and Ayiramthengu Bridge on Oachira - Ayiramthengu Road(Within Kollam District)	KOLLAM	Rural	110	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
611	Between Mukkada Junction and Placheri Junction on Erumeli - Placheri Road (Not on State Highway)	KOTTAYAM	Rural	90	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
612	Between Kanjirapalli Kurisumkal Junction and Mannarakayam Junction (Not on NH)	КОТТАУАМ	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
613	Industrial estate Junction to Thengana Junction on Changanacherry-Vazhoor Road(Outside Municipal Limit)	KOTTAYAM	Rural	120	Open	СС	20	25	500	16	6	Bidding	10	4
614	From Pravettam Junction to Kottamuri Junction on Ettumanoor-Neendoor Road (Outside Municipal Limit)	KOTTAYAM	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
615	From Oravakkal Junction to Eruthupuzha Bridge on Oravakkal-Koorali Road	KOTTAYAM	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
616	From Pampady Junction to Kooroppada Junction on Pampady-Kooroppada Road (Not on National Highway)	KOTTAYAM	Rural	90	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
617	From Mandiram Kavala to Pulimood Junction on Chethipuzha Road	KOTTAYAM	Rural	100	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
618	From Eranjal Bridge to Mosco Junction (On Eranjal-Thiruvanchoor Road)(Outside Municipal Limit)	KOTTAYAM	Rural	90	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
619	From Kudayampady Junction to Parippu Junction (Via Olassa) on Kudayampady-Parippu Road	KOTTAYAM	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
620	From Kurishumoodu Junction to Valiakulam Junction on Vazhoor Road	KOTTAYAM	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
621	Between Pulimood Junction and Kurisummood Junction via Chethippuzha	KOTTAYAM	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
622	Between Erumeli Junction and Mundakkayam Junction via Kannimala	KOTTAYAM	Rural	110	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
623	Thengana Junction to Kunnumpuram Junction on Thengana - Perumthuruthy Road(Outside Municipal Limit)	КОТТАУАМ	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
624	Govt Taluk hospital Balussery to Nanminda Wood Industries within Nanminda Village (not on National Highway/ State Highway)	KOZHIKODE	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
625	From Kakkur Bridge within 3kms towards Chelannur via Kozhikode Balussery road	KOZHIKODE	Rural	140	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
626	From Agasthyamuzhi Junction to Thiruvambady Police Station via Mukkam Thiruvambady Road (not on State Highway/National Highway/Municipality)	KOZHIKODE	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
627	From Kadalundi Bridge to Chaliyam Junkar point through Chaliyam Kadalundi Road	KOZHIKODE	Rural	130	OPEN PH	DC	20	25	500	16	35	Draw of Lots	5	4
628	From Mavoor Bus Stand, Mavoor to Sub Registrar Office Mavoor via Thengilakkadavu Bridge	KOZHIKODE	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
629	From Nellipoyil Village Office to Pulikkayam New bridge(via marthoma church pulikayam)	KOZHIKODE	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
630	From Balussery Block panchayath Office to Avitanallur Lakshmi Narayana Temple Kootalida	KOZHIKODE	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	nt for	required for	Draw of Lots / Bidding		
631	Poonoor G M U P School Entrance To Poonoor High School Mukku Kanthapuram	KOZHIKODE	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
632	Kunnathpalam Bridge to Pantheerankave junction not on National Highway (outside Corporation Limits)	KOZHIKODE	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
633	Hilite Mall Junction to AWH Enginering College outside Corporation Limits (not on National Highway/ State Highway)	KOZHIKODE	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
634	From Kuruvattor Dairy Co-Operative Society To Kuruvattoor AUP School on Kuruvatoor - Pullaloor Rd	KOZHIKODE	Rural	140	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
635	Between Perambra and Kalpathur Vayanashala via Payyoli Perambra Road (Not on State Highway)	KOZHIKODE	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
636	From KSIDC Industrial Growth Center Kinaloor to Vattoli Bazar, via Vattoli Kinalur Road (not on State Highway/National Highway/Municipality)	KOZHIKODE	Rural	150	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
637	From Pantheerankavu Junction to Puthoormadam Masjid via Pantheerankavu-Perumanna Road (not on National Highway/ State Highway)	KOZHIKODE	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
638	Palayattunada Junction to Maniyur Gramapanchayath Office via Vadakara Maniyur Road (Outside Municipal Limits)	KOZHIKODE	Rural	90	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
639	From St Thomas HSS Thottumukkam to St. Mary's Church Kurisupally, Maranchatty via Chundathumpoyil road (not on State Highway/National Highway/Municipality)	KOZHIKODE	Rural	70	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
640	Perambra New Bypass Road	KOZHIKODE	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
641	Between Mukkatta Junction and Karulai bus stand On Nilambur-Karulai road (Not on State Highway/ Municipality)	MALAPPURAM	Rural	100	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
642	On Mannarmala- Manathmangalam road, Kariavattom village (outside Municipal Limits)	MALAPPURAM	Rural	80	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
643	From Cherakaparamb Veterinary Center to Chullikode Masjid On Perinthalmanna -Kottakkal Road via Puzhakkatiri (not on State highway)	MALAPPURAM	Rural	80	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
644	From Federal bank branch Areacode to Poonkudi Bridge On Areacode to Vazhakkad road (Not on State Highway)	MALAPPURAM	Rural	90	ST PH	CFS	20	25	500	0	0	Draw of Lots	0	2
645	From Govt. HSS Edakkara School ground to St. mary's Catholic Church, Muthedam via kattadi bridge	MALAPPURAM	Rural	130	OBC PH	DC	20	25	500	16	35	Draw of Lots	5	3
646	From GMLP School, Ponmundam South to Puthanathani Sunni Masjid in Vailathur-Puthanathani Road	MALAPPURAM	Rural	140	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
647	Within Kodur Revenue Village limits on Kottakkal-Chattiparamba-Perinthalmanna Road (Outside Muncipal limits)	MALAPPURAM	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
648	From Kottakkal College Padi Junction to Puthuparambu Sub Post Office (outside municipal limits)	MALAPPURAM	Rural	130	OBC	DC	20	25	500	16	35	Draw of Lots	5	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i		arrange app	e to be d by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/ CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	Estimated fund required for developm ent of infrastruct ure at RO (Rs In Lakhs)	Draw of Lots / Bidding		
649	Within Nannambra Revenue Village in Kodinhi Road	MALAPPURAM	Rural	140	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
650	Within Pallikkal Village in EMEA College- Airport Road (not in municipality limits)	MALAPPURAM	Rural	130	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
651	Mankada(Within Panchayat Limits) on Anakkayam-Tirurkkad Road	MALAPPURAM	Rural	120	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
652	Within Naduvattom Revenue Village in Tirur-Kuttippuram Road	MALAPPURAM	Rural	130	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
653	Within Vailathur-Karinkappara-Kozhichena Road (Not on National Highway & State Highway)	MALAPPURAM	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
654	From Thripangode Grama Pachayat Family Health Centre, Alingal to Muhyiddin Juma Masjid, Poozhikunnu in Tirur Chamravattom Road	MALAPPURAM	Rural	120	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
655	Within Purathur Revenue Village in Chamravattom- Kavilkkad-Mangalam Road	MALAPPURAM	Rural	120	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	2
656	Within Chembrasseri village limits on Vaniyambalam-Poolamanna road	MALAPPURAM	Rural	70	OBC CC 1	DC	20	25	500	16	35	Draw of Lots	5	3
657	From Anakkayam Bridge to GLP school vallikapatta On Anakkayam-Tirurkkad Road (Outside Muncipal limits)	MALAPPURAM	Rural	80	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
658	Within Ponmala Revenue Village in Kottakkal-Perinthalmanna Road (Outside Municipal Limits)	MALAPPURAM	Rural	60	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
659	From Seethihaji bridge Edavanna to Govt. High school Perakamanna othayi main gate On Edavanna Othayi Areacode road	MALAPPURAM	Rural	120	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
660	Koloopalam Bridge to Pattarnadakkavu Town Juma Masjid in Thekkan Kuttoor-Pattarnadakkavu Road	MALAPPURAM	Rural	90	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
661	From Pullur Juma Masjid to GUP school Chengara On Manjeri -Areacode road (Outside Muncipality limit)	MALAPPURAM	Rural	90	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
662	Within Cherukavu revenue Village (not on National Highway/ State Highway)	MALAPPURAM	Rural	80	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
663	From Mundakulam masjid to Edavannapara Junction on Edavannapara-Kondotty airport road	MALAPPURAM	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
664	From A M Higher secondary school Vengoor to Vettathur village office On Kariavattam -Vettathur Road	MALAPPURAM	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
665	Between Govt. Ayurveda Dispensary Muthedam and Palankara Bridge via Vadakkekai	MALAPPURAM	Rural	120	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
666	Within Marakkara Revenue Village in kadampuzha-Pang Road	MALAPPURAM	Rural	80	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen: of the site (i	•	arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	Estimated fund required for developm ent of infrastruct ure at RO (Rs In Lakhs)	Draw of Lots / Bidding		
667	Within Mangalam Revenue Village in Tippu sulthan Coastal Road	MALAPPURAM	Rural	130	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
668	From Neeliyad Juma Masjid to Vattamkulam GLP School on Palakkad-Ponnani Road	MALAPPURAM	Rural	100	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
669	From Govt. HSS Karakkunnu to Thiruvali Government Ayurvedic Hospital On karakkunnu Wandoor Road(outside muncipal limits)	MALAPPURAM	Rural	80	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
670	From Karulai grama Panchayath office to Salafi Masjid Pookkottumpadam on Karulayi- Pookkottumpadam road via mundakulam (Not on State Highway)	MALAPPURAM	Rural	110	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	2
671	From Kerala Gramin Bank, Tanalur to Ponmundam Post Office, vailathur in Tanalur-Vailathur Road	MALAPPURAM	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
672	Between Kudallur Juma Masjid And Thrithala Police Station On Thrithala-Kumbidi Road	PALAKKAD	Rural	120	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
673	From Mepparamba Masjid To Kallekad Masjid On Palakkad - Ponnani Road (Outside Municipal Limits)	PALAKKAD	Rural	160	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
674	Between Government Lower Primary School, Nellikkattiri And Thirumittacode Service Co Op Bank On Cheruthuruthi - Koottanad Road	PALAKKAD	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
675	Between Kottanad Post Office And Max Plus Regency On Naduvattom -Thanneerkod Road	PALAKKAD	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
676	From Kottoppadam Grama Panchayath Office To Thiruvizhamkunnu Post Office On Kottoppadam - Thiruvizhamkunnu Road	PALAKKAD	Rural	70	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
677	Between Muthoot Fincorp Office, Koottanad And Registrar Office, Thrithala On Koottanad - Thrithala Road	PALAKKAD	Rural	150	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
678	Between Parali and Kootupatha Mundur on Parali - Mundoor Road	PALAKKAD	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
679	From Pirayiri (Mepparambu Kallekad Sub Road Junction) To Parali Junciton On Palakkad - Ponnani Road	PALAKKAD	Rural	70	OBC CC 1	DC	20	25	500	16	35	Draw of Lots	5	3
680	From Karakurissi (Kilirani Juma Masjid) To Kottaserry Masjid On Tippu Sultan Road	PALAKKAD	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
681	From Kottoppadam Grama Panchayath Office To Alanallur Grama Panchayath Office On Melattur - Mannarkkad Road	PALAKKAD	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
682	From Mangalamkunnu Junction To Ambalappara Kanjirankad Kalari Temple On Ottapalam - Mannarkkad Road (Not On State Highway)	PALAKKAD	Rural	60	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
683	From Murukumpatta Junction To Kanjirakadavu Bridge On Ottapalam - Mannarkkad Road (Outside Municipal Limits)	PALAKKAD	Rural	70	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
684	From Menonpara Junction To Kanjikode Alamaram Bridge On Kanjikode - Menonpara Road	PALAKKAD	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
685	From Mukkali Junction To Thavalam Junction On Mannarkkad - Anakkatti Road	PALAKKAD	Rural	60	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
686	From Nellaya Juma Masjid To Vallapuzha Railway Gate On Pattambi - Cherpulasserry Road	PALAKKAD	Rural	60	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
687	From Parali Junction To Kottayi Registrar Office On Kottayi - Pudur - Parali Road	PALAKKAD	Rural	110	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
688	From Pudunagaram Grama Panchayath Office To Oottara Railway Crossing On Pudunagaram - Kollengode Road (Outside Municipal Limits)	PALAKKAD	Rural	60	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
689	From Puthankulam Juma Masjid To Krishna Cineplex & Dev Cineplex on Koppam - Muthuthala Road	PALAKKAD	Rural	120	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
690	Between Mankara Police Station And Parali Bridge On Palakkad - Ponnani Road (Outside Municipal Limits)	PALAKKAD	Rural	60	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
691	Between Chandanappally and Poomkavu on Chandanappally-Konni Road	PATHANAMTHITTA	Rural	105	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
692	Between Kaipattoor Junction and Nariyapuram Junction on Kaipattoor Pandhalam road	PATHANAMTHITTA	Rural	110	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
693	Between Kadambanad Junction and Enathu Junction (on Kadambanad - Enathu - Ezhamkulam Road)	PATHANAMTHITTA	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
694	Between Vechoochira Junction and Kanakappalam Junction (on Vechoochira - Kanakappalam Road)	PATHANAMTHITTA	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
695	Between Vakayar Junction and Vallicode Junction (on Vakayar - Vallicode Road)	PATHANAMTHITTA	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
696	Between Thumpamon Junction and Thekkemala Junction (on Thekkemala - Thumpamon Road)	PATHANAMTHITTA	Rural	90	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
697	Between Manthamaruthi Junction and Vechoochira Junction (on Manthamaruthi - Vechoochira Road via Kunnam)	PATHANAMTHITTA	Rural	85	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
698	Between Aranmula Junction and Kulanda Junction (on Kulanada - Aranmula Road)	PATHANAMTHITTA	Rural	110	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
699	Between Kaipattoor Junction and Chandanappally Junction (on Kaipattor -Mannadi Road)	PATHANAMTHITTA	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
700	Between Eraviperoor Junction and Vennikulam Junction (on Thiruvalla -Ranni Road)	PATHANAMTHITTA	Rural	110	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	2
701	Between Elamannoor Junction and Manakkattupuzha Juma Masjid (on Elamannoor - Kalanjoor Padom Road)	PATHANAMTHITTA	Rural	105	OBC CC 1	DC	20	25	500	16	35	Draw of Lots	5	3
702	Between Omallur Junction and Kulanada Junction (on Omalloor - Kulanada Road)	PATHANAMTHITTA	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (i		arrange app	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN COPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	nt for	required for	Draw of Lots / Bidding		
703	Channankara (On Kadinamkulam - Kanniyapuram Road)	THIRUVANANTHAPURAM	Rural	120	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
704	From Malayinkeezhu Junction to Kattakkada KSRTC Depot Towards Kattakkada (Left Hand Side)	THIRUVANANTHAPURAM	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
705	From Parandode Junction to Aryanad Palam Junction (Via Vayalikkada Junction)	THIRUVANANTHAPURAM	Rural	110	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
706	From Anchuthengu Junction to Perumathura Junction	THIRUVANANTHAPURAM	Rural	110	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
707	From Maranalloor Junction to Perumpazhuthoor Junction on Neyyatinkara-Kattakada Road (Outside Neyyantinkara Muncipality limit)	THIRUVANANTHAPURAM	Rural	105	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
708	Between Peyad Junction and Malayinkeezhu Junction (on Thirumala - Peyad - Malayinkeezhu Road outside Trivandrum Corporation Limits)	THIRUVANANTHAPURAM	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
709	Between Vedivachankovil Junction and Punnamoodu Junction on Nemon-Punnamodu Road (Outside Trivandrum Corporation Limits)	THIRUVANANTHAPURAM	Rural	105	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
710	From Venjaranmoodu KSRTC Junction to Chullalam Junction	THIRUVANANTHAPURAM	Rural	110	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
711	From Aruvikkara Junction to Azhikode Junction	THIRUVANANTHAPURAM	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
712	Between Vizhinjam Mukkola Junction and Pulluvila Junction (on Poovar Vizhinjam Road)(Outside Trivandrum Corporation Limits)	THIRUVANANTHAPURAM	Rural	110	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
713	Between Olathanni Junction and Poovar Junction on Neyyantinkara-Poovar Road (Outside Neyyatinkara Municipality Limits)	THIRUVANANTHAPURAM	Rural	110	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
714	From Kallara Junction to Bharathanoor Junction via Pangode	THIRUVANANTHAPURAM	Rural	95	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
715	From Chirayinkeezhu Junction to Anchuthengu Junction	THIRUVANANTHAPURAM	Rural	110	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
716	From Chirayinkeezhu Valiyakada Junction to Attingal Kacheri Junction (Outside Municipal Limit)	THIRUVANANTHAPURAM	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
717	From Perumathura Junction to Vettuthura Junction	THIRUVANANTHAPURAM	Rural	110	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
718	Between Kadinamkulam Junction and Perumathura Junction	THIRUVANANTHAPURAM	Rural	120	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
719	Between Kayampoovam Madrassa Hall And Kondazhi Grama Panchayat Office On Chelakkara Mayannur Ottappalam Rd	THRISSUR	Rural	75	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
720	Between Padiyoor KKMS Auditorium And Vellangallur Junction On Vellangalur Mathilakam Road	THRISSUR	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		num Dimen of the site (arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
721	Between Vadanapally Police Station And Sree Narayana College, Nattika On East Tippusultan Road	THRISSUR	Rural	140	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
722	Between Punnayurkulam Post Office And Pananthara Junction On Althara Kadikkad Road	THRISSUR	Rural	110	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
723	Between Federal Bank, Kottekkad And Avanur Velappaya Village Office On Mundur - Kottekkad Road (Outside Municipal Limits)	THRISSUR	Rural	155	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
724	From Thalassery Chungam Masjid At Arangottukara Junction To Vidhyaposhini Public Library, Arangottukara On Cheruthuruthy Perumbilavu Road	THRISSUR	Rural	110	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
725	From MM Palace Auditorium To Sree Vivekananda Teacher Education Centre, Akkikkavu On Kecheri - Akkikavu Road (Not On State Highway)	THRISSUR	Rural	130	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
726	Between Thumboor Co-Operative Bank And Kottanelloor St. Sebastian Chapel On Vellangallur Kobodinjamakkal Road (Not On State Highway)	THRISSUR	Rural	110	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
727	On Anchamkallu - Mullassery Road (Not On National Highway)	THRISSUR	Rural	100	sc	CFS	20	25	500	0	0	Draw of Lots	0	2
728	From St. Cyriac's Church Vylathur To Doctors Specialty Laboratory, Kunnamkulam On Anjoor - Kunnamkulam Road (Not On State Highway)	THRISSUR	Rural	130	OPEN CC 2	DC	20	25	500	16	35	Draw of Lots	5	4
729	From Kodakara Grama Panchayat Office To Al Ansar Juma Masjid, Nelliparambu On Kodakara Vellikulangara Road	THRISSUR	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
730	From Koratty Mar Augustine Memorial High School To St Joseph's Church Konoor On Koratty Nalukettu Road (Not On National Highway)	THRISSUR	Rural	100	ОВС РН	DC	20	25	500	16	35	Draw of Lots	5	3
731	From Nadathara Centre Thekkara Compley Building To Moornikkara Punjah National Bank On	THRISSUR	Rural	130	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
732	Between Amballur Signal And Varakkara Temple Gate On Amballur Chimmony Road	THRISSUR	Rural	110	OBC CC 1	DC	20	25	500	16	35	Draw of Lots	5	3
733	Between Cheruthuruthi Post Office And Painkulam Govt. Ayurveda Dispensary Via Painkulam Bridge	THRISSUR	Rural	110	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	2
734	From Kuttanelloor Elamthuruthy Bus Stop To Puthur GVHS On Thrissur Mannamangalam Road (Not On National Highway)	THRISSUR	Rural	75	OPEN PH	DC	20	25	500	16	35	Draw of Lots	5	4
735	From Pandikkadavu Juma Masjid Mananthavady to Edavaka Pancahayath Office Edavaka (not on State Highway/ Municipality)	WAYANAD	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
736	From Beenachi Junction to Koleri Govt HSS Kenichira on Beenachi Panamaram Road (not on State Highway/National Highway/Municipality)	WAYANAD	Rural	70	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
737	Kalluvayal Juma Masjid to Nenmeni Panchayath Office not on State Highway/National Highway/Municipality	WAYANAD	Rural	120	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
738		WAYANAD	Rural	60	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4

Notice for appointment of Regular/ Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in State of Kerala & Mahe of UT Puducherry as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minim M.)/Area o	num Dimens of the site (i		arrange	ce to be ed by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs In Lakhs)	Security Deposit (Rs In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/ CFS	Frontage	Depth	Area	requireme nt for operation of RO (Rs In Lakhs)	required for	Draw of Lots / Bidding		
	From Kariyambadi Post Office to Pachilakkad Junction not on State Highway via Karani (not on State Highway/National Highway/Municipality)	WAYANAD	Rural	70	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
	From Nirmala High School Thariyode to Idiyamvayal Juma Masjid, via Parathode (not on State Highway/National Highway/Municipality)	WAYANAD	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
741	Chundakkara Junction to Karakkamala Post Office, via Vilambukandam – Cheriyamkolly, not on State Highway/National Highway/Municipality	WAYANAD	Rural	60	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
	From Infant Jesus English Medium School, Kenichira to Chandranatha Swami Jain Temple Panamaram via Panamaram Nadavayal Kenichira Road	WAYANAD	Rural	80	OPEN CC 2	DC	20	25	500	16	35	Draw of Lots	5	4
	Mahe National Highway 66 Bypass from Palloor Community Hall Road intersection towards Kozhikode with in Mahe district limits on Right Hand Side	МАНЕ	Regular	450	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
744	Pandakkal on Thalassery - Panoor Road via Koppalam - Moolakkadavu Junction	МАНЕ	Regular	300	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
	Mahe National Highway 66 Bypass on Left hand side when travelling from Kannur to Kozhikode between Thalassery - Nadapuram road intersection and Palloor Community Hall Road intersection	МАНЕ	Regular	450	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	Mahe National Highway 66 Bypass from Palloor Community Hall Road intersection towards Kozhikode with in Mahe district limits on Left Hand Side	МАНЕ	Regular	450	OPEN	сс	35	35	1225	32	12	Bidding	30	5
	Pallur on Mahe Municipal limits on Thalassery - Nadapuram Road between Pallur Police Station and Chokli	МАНЕ	Regular	300	OPEN	DC	20	25	500	32	55	Draw of Lots	15	5
	Mahe National Highway 66 Bypass on Right Hand Side when travelling from Kannur to Kozhikode between Thalassery - Nadapuram road intersection and Palloor Community Hall Road intersection	МАНЕ	Regular	450	OPEN	СС	35	35	1225	32	12	Bidding	30	5
749	From Pallur Police Station Junction to Moolakkadavu Junction On Palloor - Moolakkadavu Road	МАНЕ	Regular	300	SC	CFS	20	25	500	0	0	Draw of Lots	0	3
750	MMHSS Mahe to Palloor Police Station via Palloor road within Mahe.	МАНЕ	Regular	300	SC	CFS	20	25	500	0	0	Draw of Lots	0	3

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.iocl.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same

^{*} Locations advertised for Marine means the site with water frontage with access for fishing Boats.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Applicati on fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular RO's	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 1 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Divisional Retail Sales Head	For Districts
Indian Oil Corporation Limited	
Cochin Divisional Office	Alappuzha – 9626764445
Panampilly Avenue, Panampilly Nagar Post	Ernakulam – 9480886312/ 9447498230
Ernakulam -682036	Idukki / Ernakulam - 7330931464
Land Line No. 0484- 2318929	Palakkad - 8333961874
0484- 2825202	Thrissur – 9497717827
Divisional Retail Sales Head	For Districts
Indian Oil Corporation Limited	
Kozhikode Divisional Office	Kozhikode - 6355945205
lind Floor, PMK Towers,	Wynad - 6355945205
Civil Station Post	Malappuram - 9446547474/ 9400628895
Wayanad Road,	Kannur - 9447498244
Kozhikode -673020	Mahe - 9447498244
Land Line No. 0495-2371390	Lakshadweep - 0495-2371390
0495-2371544	Kasargode - 9446998718
Divisional Retail Sales Head	
Indian Oil Corporation Limited	For Districts
Trivandrum Divisional Office,	
Ground Floor, Premier Park,	Thiruvananthapuram - 9447057450
Inchakkal Bye Pass Road,	-9496152800
Vallakkadavu PO	Kollam - 9447498241/9447498222
Thiruvananthapuram – 695 008	Kottayam – 9446808770
Land Line No. 0471- 2501822	Pathanamthitta-9447498222/8891359542
0471- 2500722	
0471- 2500122	